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Question Number : 1 Question Id : 97675518997 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A series is given with one term wrong. Select that WRONG term from the given alternatives.

PE, RG, T1, VL, XM
Options :

1. ®* RG

2. % TI

3.¥ VL

4. % XM



Question Number : 1 Question Id : 97675518997 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3fgepd fear T §, Ford 9§ v ue Tad ¢ | fau e faw e & § 39 7ed ug &1 gi-u|

PE, RG, TI, VL, XM
Options :

1. * RG

2. % TI

3.¥ VL

4. % XM

Question Number : 2 Question Id : 97675518998 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A series is given with one term missing. Select the CORRECT alternative from the given ones that will complete the series.

FVL, KYN, PBP, UER, ZHT, ?
Options :
1. ¥ EJV
2. % DKV
3. ¥ EKV
4. % DJU

Question Number : 2 Question Id : 97675518998 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3gepd fear mar B, o § ue ue g 31 U U il 7 ¥ 98 9el faded g, S 3w H B [T R

FVL, KYN, PBP, UER, ZHT, ?
Options :

1. ® EJV

2. % DKV



3. ¥ EKV
4. % DJU

Question Number : 3 Question Id : 97675518999 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, select the odd word from the given alternatives.
Options :

1. % Book

2. # Pen

3. # Pencil

4. ¥ Stationery

Question Number : 3 Question Id : 97675518999 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferiRed us # fau e fasbedl # 9 favw eg o1 gHT|
Options :

1. # fodre

2. % HAH

3. % URY

4.« G-l

Question Number : 4 Question Id : 97675519000 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related words from the given alternatives.

March : August :: June : ?
Options :

1. ¥ November

2. # January



3. % July
4. % QOctober

Question Number : 4 Question Id : 97675519000 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraforRad oy & fau 7o fowedl & @ Safda wsal &1 gl
ad : SR 97 : 2

Options :

1. ¢ dqt}
2. % S
3. % Jams

4. % AR

Question Number : 5 Question Id : 97675519001 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, a group of letters is given. The letters of each group are related with the letters of the same group by some
Logic/Rule/Relation. From the given alternatives, select a group of letters which follows the same Logic/Rule/Relation.

(NXZ, JTG, FPN)
Options :

1. ® (DTS, ZPA, VLH)
2. % (JQL, FNS, BJA)
3. % (PWC, LSJ, HPQ)
4. ¥ (MOV, IKC, EGJ)

Question Number : 5 Question Id : 97675519001 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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(NXZ, JTG, FPN)
Options :

1. # (DTS, ZPA, VLH)
2. % (JQL, FNS, BJA)
3. # (PWC, LSJ, HPQ)
4. ¥ (MOV, IKC, EGJ)

Question Number : 6 Question Id : 97675519002 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘B’ is written as ‘2°, ‘BAT’ is written as ‘23’. What is the code for ‘ON’ in that code language?
Options :

1. % 25

2. % 27

3. 29

4. % 30

Question Number : 6 Question Id : 97675519002 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T fAfR1s e WM H, ‘B’ B +2° ol STl 8, “BAT® B! <23 fora Sl 5 | I IS U T *ON’ T IS T 52
Options :

1. % 25

2. % 27

3.4 29

4. % 30

Question Number : 7 Question Id : 97675519003 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In a certain code language, ‘CARD’ is written as ‘4, 2, 19, 5°, ‘POINT’ is written as ’17, 16, 10, 15, 21°. What is the code for ‘FIGURE’ in that



code language?
Options :

1. % 6,11,8,22,20,7
2.%7,10,8,22,19,6
3.%6,9,7,22,18,5
4. % 7,10,8,23,19,6

Question Number : 7 Question Id : 97675519003 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS A9 B U H, ‘CARD’ @ *4, 2, 19, 5° [AGT A, ‘POINT’ Bl *17, 16, 10, 15, 21 [ORGT STl § | S HIS U H ‘FIGURE® I
HIS FT?

Options :

1. # 6,11,8,22,20,7

2.%7,10,8,22,19,6

3.%6,9,7,22,18,5

4. % 17,10,8,23,19,6

Question Number : 8 Question Id : 97675519004 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A is the brother of B. D is the father of C. B is the daughter of F. C is the sister of A. How is F related to D?
Options :

1. ¥ Wife

2. % Mother

3. # Brother

4. ® Sister

Question Number : 8 Question Id : 97675519004 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. ¢ Uat
2. % HIdl
3. % Uiy
4. % de

Question Number : 9 Question Id : 97675519005 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Seven persons A, B, C, D, E, F and G sit in a row facing towards the north (not necessarily in the same order). Two persons sit between D and F.
Two persons sit between B and D. F sits fourth to the right of E. C sits third to the left of G. Who sits second to the left of A?

Options :
l1.* B
2. % C
3.D
4. % E

Question Number : 9 Question Id : 97675519005 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

.% B

2. % C

3.¢4D

4. % E

Question Number : 10 Question Id : 97675519006 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:
I. All S are H.
II. All J are H.

Conclusions:
I. Some S are J.
II. Some H are S.

Options :

1. # Only conclusion I follows

2. % Only conclusion II follows

3. * Both conclusion I and II follows

4. % Neither conclusion follows

Question Number : 10 Question Id : 97675519006 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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4. % DIz W} FISHY SR 8! R §



Question Number : 11 Question Id : 97675519007 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:
I. Some D are F.
II. AIl F are G.

Conclusions:

I. Some D are G.

II. All D are G.

III. Some D are not G.

Options :

1. ¥ Only conclusion I follows
2. % Only conclusion II follows
3. % Only conclusion III follows

4. % Both conclusion I and II follows

Question Number : 11 Question Id : 97675519007 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ Had (sHY | 38R0 HT §

2. % Had BN 11 SR Hl §

3. % Had fApY 111 3R &l §
4. % Q! FTSHY 1 T 11 SRR HRd &

Question Number : 12 Question Id : 97675519008 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, four number pairs are given. The number on left side of (—) is related to the number of the right side of (—) with some
Logic/Rule/Relation. Three are similar on basis of same Logic/Rule/Relation. Select the odd one out from the given alternatives.

Options :

1. % 11-100
2. % 13-144
3. % 15-196
4.+ 19 -400

Question Number : 12 Question Id : 97675519008 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 11-100

2. % 13144

3. % 15-196

4. 19 -400

Question Number : 13 Question Id : 97675519009 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related number from the given alternatives.

27865 : 3360 :: 58297 : ?
Options :
1. # 7120
2.9 5040
3. % 4900
4. % 6180

Question Number : 13 Question Id : 97675519009 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRad vy @ fau e faswedl O 9 Sefda e o g
27865 : 3360 :: 58297 : ?

Options :

1. ® 7120

2. ¥ 5040

3. % 4900
4. % 6180

Question Number : 14 Question Id : 97675519010 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



How many total chairs are there?

2
.
6@

Table

Door Chair

Options :
1. % 422
2. % 412
3.9 432
4. % 442

Question Number : 14 Question Id : 97675519010 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % 422
2. % 412
3.9 432
4. % 442



Question Number : 15 Question Id : 97675519011 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A man starts walking towards the east and walks 5 km. He turns to the left and walks 12 km. How far is he now from the starting point?
Options :

1. # 12 km

2. % 13 km

3. % 14 km

4. % 15km

Question Number : 15 Question Id : 97675519011 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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?

Options :

Question Number : 16 Question Id : 97675519012 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Point P is 5 metre west of point Q. Point L is 12 metre south of Point P. Point S is 36 metre north of Point L. Point T is 5 metre east of Point S.
How far and in which direction is Point Q from Point T?

Options :

1. # 25 km, North
2. % 24 km, North
3. % 25 km, South
4. ¥ 24 km, South



Question Number : 16 Question Id : 97675519012 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ffgprfigodsHicrudmagIfigLSgr e clRmAgI fig s gL A 36 xS AGI Mg Tfag s A s MR gd AR I1fdg Q,
foig T 9 fpat R qur fpa femm & 89

Options :

1. % 25 fh Al I

2. % 24 fh M W

3. % 25 o5 o1, gfém

4. ¢ 24 1% 11, fermo

Question Number : 17 Question Id : 97675519013 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the figure which can be placed at the sign of question mark (?) from the given

alternatives,
(e} 0 %
o X ?
b4 * O
Options :
X
0
1. ®
X
O




3. ®

4.

Question Number : 17 Question Id : 97675519013 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frfaf@a gea & AT o0 Reedt & @ woa Ry (?) & T W 3 Jror JpT AT

8] o X
(o] X ?
X X O
Options :
X
O
1. #
X
O




3. ®

4.

Question Number : 18 Question Id : 97675519014 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

In the following question, select the WRONG figure from the given series.

A D||R A|l|G R||E G||M E
P L||[L D|[|D A||R A||R G

Options :
M E
], % (IS
A D
P L

2. 8




E G
- R A

R A

L D
4. %

Question Number : 18 Question Id : 97675519014 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frefaf@a e #, & 2 s/@er 7 ¥ o Agla AT

A DIIR A||G R||E G||M E
P L||L D||D A[|R A||R G

Options :
M E
1. ® IR
A D
P E




E G
- R A

R A

L D
4. %

Question Number : 19 Question Id : 97675519015 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given answer figures, select the one in which the question figure is hidden/embedded.

A

Options :




~
"\IP'
A

K

4.9

Question Number : 19 Question Id : 97675519015 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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A

Options :




N

VS

Question Number : 20 Question Id : 97675519016 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
By folding the given paper, which of the following cube can be made?

OO0

A|O

g
| 11 I11
Options :
1. % Only I
2. % Only II

3. % Only III
4. % Tand 11




Question Number : 20 Question Id : 97675519016 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. v Bad [
2. % had I
3. % ohad III
4. % 1dYTII
General Awareness
Group Number : 2
Group Id : 976755621
Group Maximum Duration : 0
Group Minimum Duration : 0

Show Attended Group? : No



Edit Attended Group? : No

Break time : 0
Group Marks : 20
Is this Group for Examiner? : No

General Awareness

Section Id : 9767551051
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 9767551218
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 97675519017 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sri Soumyakeshava temple is situated in which state of India?
Options :

1. ¥ Karnataka

2. % Tamil Nadu

3. # Kerala

4. # Rajasthan

Question Number : 21 Question Id : 97675519017 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



oft G erg Hiey YR & fohg Tsu § RUd 82
Options :

1. ¢ FAlcH

2. % qAeg

3. % B

4. % ORYH

Question Number : 22 Question Id : 97675519018 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Mohiniyattam is a classical dance form of Kerala. Which of the following statement is CORRECT regarding Mohiniyattam?

L. It belongs to the ‘lasya’ style which is feminine, tender and graceful.
II. Mohiniyattam does not lay emphasis on acting.

Options :

1. ¥ Only I

2. % Only II

3. % BothIandII
4. # Neither I nor II

Question Number : 22 Question Id : 97675519018 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HfE1SIgH, P BT AR I B | Hifg-3rgH & Ja # Fafeiad # 9 ol 91 o |8l 2
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Options :

1. ¢ $Had |

2. % HAAII

3. % [ QYT

4. % qEIIATR I




Question Number : 23 Question Id : 97675519019 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The difference between the borrowing and the lending rate in commercial banks is called
Options :

1. # float

2. ¥ gspread

3. # revenue

4. % credit

Question Number : 23 Question Id : 97675519019 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IS deb] H, BT qUT IYR - TR BT & & 3R Bl HE ST g |
Options :

1. % faxd

2.« Tral gl

3. # XN

4. % B9

Question Number : 24 Question Id : 97675519020 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Goods and Services tax in India was implemented from
Options :

1. % 1st April 2015

2. % Ist July 2017

3. # 1st June 2015

4. # st March 2017

Question Number : 24 Question Id : 97675519020 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
HRA H {1 3R a1 R S IUGERIRIRIRI

Options :

1. % 1 3M0d 2015
2. 1 9Ts 2017
3. % 152015

4. % 1972017

Question Number : 25 Question Id : 97675519021 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Refractive index of Ice is

Options :

1. ® 1.85

2. ¥ 131

3. % 1.50

4. % 1.77

Question Number : 25 Question Id : 97675519021 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
U BT SUddHID gl
Options :

1. * 1.85

2.9 1.31

3. % 1.50

4. % 1.77

Question Number : 26 Question Id : 97675519022 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following pair of animal — group is CORRECT?

I. Jellyfish — Coelenterate
II. Spider — Mollusca

Options :

1. % Only I

2. % Only II

3. % Both I andII
4. ¥ Neither I nor II

Question Number : 26 Question Id : 97675519022 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.¥ Hadl
2. % HAd Il
3. % [ QYT ISl
4. % qEIIATE I

Question Number : 27 Question Id : 97675519023 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A constant force acts on an object of mass 10 kg for a duration of 4 second. It increases the object’s velocity from 3 metre/second to 7
metre/second. What is the magnitude of applied force?

Options :
1. % 5N
2. % 15N
3.910N
4. % 20N



Question Number : 27 Question Id : 97675519023 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

I.* 5N

2. % 15N

3.¥ 10N

4.% 20N

Question Number : 28 Question Id : 97675519024 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The rhythmic rise and fall of ocean water twice in a day is called
Options :

1. ®* wave

2. ¥ tide

3. * ocean current

4. % tsunami

Question Number : 28 Question Id : 97675519024 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

{1 ¥ &1 SR 9 O HerrRIg Sd &1 331 Td fTRAT FHEAI 5|
Options :

1. % @

2. % SdR-HICT

3. % TR YR

4. % AT



Question Number : 29 Question Id : 97675519025 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is NOT a rabi crops?
Options :

1. % Barley

2. % Peas

3. % Mustard

4. ¥ Jowar

Question Number : 29 Question Id : 97675519025 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Pl § & 39 9 1 e Gaa T
Options :

1. % S

2. % HX

3. % Il

4, ¥ SdRR

Question Number : 30 Question Id : 97675519026 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following was the son of Bindusara?
Options :

1. #* Chandragupta

2. ¥ Ashoka

3. % Bimbisar

4. % Mabhindra

Question Number : 30 Question Id : 97675519026 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

frafofed # § o fogaR &1 g um
Options :

1. % T

2. ¢ 3RNH

3. % fdfoR

4. * Hfg=

Question Number : 31 Question Id : 97675519027 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Aihole was the capital of

Options :

1. ¥ Chalukyas

2. ®% Cholas

3. % Pallavas

4. % Chandelas

Question Number : 31 Question Id : 97675519027 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TgId EIRUELIETRIN
Options :

1. ¥ AR

2. % dId

3. # Uid

4. % Tdd

Question Number : 32 Question Id : 97675519028 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Manimekalai was composed by

Options :

1. ¥ Sattanar

2. % Kovalan

3. % Madhuri

4. % Tlango

Question Number : 32 Question Id : 97675519028 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
BRI CE | BRI
Options :

1. " IR

2. % HIqa

3. % OIeR

4. % g

Question Number : 33 Question Id : 97675519029 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Language of administration under the Delhi Sultans was
Options :

1. ¥ Persian

2. % Hindi

3. ¥ Arabic

4. ® English

Question Number : 33 Question Id : 97675519029 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fEeeht Yo & S TR T UTeT |



Options :
1. ¢ URH!
2. # fgdt
3. % 3Rdl
4. % 3TN

Question Number : 34 Question Id : 97675519030 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who is the author of the book “Right Under Your Nose™?
Options :

1. # K.S. Vijayanath

2. % R. Kaushik

3. % R. Giridharan

4. % Romila Thapar

Question Number : 34 Question Id : 97675519030 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
‘ST S TR AT TP & QP DI g7
Options :

1. % &.0q. faor=my

2. % 3R, DIRNS

3. ¢ 3R fRteRom

4. % A YR

Question Number : 35 Question Id : 97675519031 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
NISAR satellite which will be launched in 2023 is a Joint mission of and
Options :




1. ® ISRO; CNES
2.+ ISRO; NASA
3. % ISRO; ESA
4. % ISRO; DLR

Question Number : 35 Question Id : 97675519031 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR I fordt 2023 H gaifta fasar smam 3R &1 TP gad HRE g |
Options :

1. % SR, AT

2. ¥ m; BIRSI

3. % TWI 3T

4, % W, f$ T 3R

Question Number : 36 Question Id : 97675519032 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

There are schedules in Indian constitution.
Options :

1.¥ 12

2. %10

3.% 11

4. % 8

Question Number : 36 Question Id : 97675519032 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rt dfgem d e g
Options :

1.9 12



2. %10
3.% 11
4. % 8

Question Number : 37 Question Id : 97675519033 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement is CORRECT?

I. Part II of Indian constitution is related with citizenship.
II. Article 17 of Indian constitution is related with abolition of titles.

Options :

1. ¥ Only I

2. % Only II

3. % Both Iand Il
4. ® Neither I nor II

Question Number : 37 Question Id : 97675519033 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefad & @ o 91 By I8l 82

. HRAHT GfIYTH BT HRT 11 ARG ¥ Gefdd 7|

1. YR TfaU™ &1 3rwde 17 JUIfal & 3fd I Gafid 3
Options :

1. Had I

2. % Had Il

3. % [ QYT gHl

4. % I I

Question Number : 38 Question Id : 97675519034 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Who among the following is the first Indian Woman Cricketer to score 10000 international runs?
Options :

1. % Smriti Mandhana

2. ¥ Mithali Raj

3. % Harmanpreet Kaur

4. % Shafali Verma

Question Number : 38 Question Id : 97675519034 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad & | B9 10000 SiaRfSTa 3 M arelt ugel YR ufgar fsdeR 892
Options :

1. % Wi GymT

2. foaret I

3. % AT HR

4. % QIOBTel qAf

Question Number : 39 Question Id : 97675519035 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which cricket stadium hosted the final of ICC Test Championship in July 2021?
Options :

1. * Lords

2. % The Ageas Bowl

3. % The Oval

4. % Old Trafford

Question Number : 39 Question Id : 97675519035 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S[ATS 2021 H, 318, T AMRTART & BrEAd Bt Aora! [ fhde Rfsgn A ot ot




Options :

1. % dIgq

2. ¥ T Tiorg 913
3. % 1¢ aflad

4. % @ THIS

Question Number : 40 Question Id : 97675519036 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following has won the French Open 2021 Women’s Singles title?
Options :

1. ¥ Barbora Krejcikova

2. % Sofia Kenin

3. # Naomi Osaka

4. ¥ Anastasia Pavlyuchenkova

Question Number : 40 Question Id : 97675519036 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFofaied o ¥ fam Iha it 2021 Al Toha feare sidl g2
Options :

1. ¢ SRERT shiiepla

2. % Giithal b

3. % FA13NHT 1B

4. % TR UTdege-TehId]
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Group Number : 3
Group Id : 976755622

Group Maximum Duration : 0



Group Minimum Duration :
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Edit Attended Group? :
Break time :

Group Marks :
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Arithmetic Ability

Section Id : 9767551052
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Number of Questions : 20

Number of Questions to be attempted : 20
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Enable Mark as Answered Mark for Review and Clear Response : Yes
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Sub-Section Id : 9767551219
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 97675519037 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the value of 24 + 15 of 16 + 8 of 2?
Options :

1. % 39

2. % 37

3. % 4]

4. % 43

Question Number : 41 Question Id : 97675519037 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
2% 168 24+ 15 BT AM T 3?
Options :

1. ¥ 39

2. % 37

3. % 41

4. % 43

Question Number : 42 Question Id : 97675519038 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sum of two numbers is 200 and their difference is 100. What is the product of the two numbers?
Options :

1. #* 10000

2. % 6000

3. % 8000

4.+ 7500

Question Number : 42 Question Id : 97675519038 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 RT3 BT TN 200 TYT BT 3fAR 100 T 1 1 TATHT BT UGS T 32
Options :

1. #* 10000

2. % 6000

3. % 8000

4.+ 7500

Question Number : 43 Question Id : 97675519039 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Average of five numbers is 13. If three numbers 19, 22 and 14 are also included, then what will be the average of these eight numbers?



Options :
1. # 17
2.% 14
3.9 15
4. % 18

Question Number : 43 Question Id : 97675519039 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ui G131 BT ST 13 § 1 TG ot TeArsit 19, 22 TT 14 BT ot e foram T &, a1 59 3ie ReAmsil &1 Siad o1 g
Options :

1. % 17

2. % 14

3.915

4. % 18

Question Number : 44 Question Id : 97675519040 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Marked price of an article is Rs. 6500 more than the cost price. After giving a discount of 70 percent, there is a profit of 60 percent. What is the
selling price of this article?

Options :

1. ¥ Rs. 3500
2. % Rs. 3200
3. % Rs. 2800
4. ¥ Rs. 2400

Question Number : 44 Question Id : 97675519040 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

W%ﬁﬁﬂ%aﬂ 3D T T ¥ 6500 T YD ¢ 1 70 TR Bt G G o THTA, 60 UIIRI BT ATH BIdT ¢ | $9 g 1 [ashd Hed
T ]?




Options :

1. % 3500 30
2. % 3200 39T
3. % 2800 39U
4. ¥ 2400 39T

Question Number : 45 Question Id : 97675519041 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A is 37 percent less than Y. If the value of A is 57960, then what is the value of Y?
Options :

1. ¥ 92000

2. * 82400

3. ¥ 79405

4. % 87500

Question Number : 45 Question Id : 97675519041 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A, Y 937 UIRId H1 81 3 A BTAM 57960 8, @ Y 6T AH &1 82
Options :

1. ¥ 92000

2. % 82400

3. % 79405

4. % 87500

Question Number : 46 Question Id : 97675519042 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A number is first increased by 60 percent and then it is decreased by 70 percent. If number becomes 1632, then what was the original number?
Options :

1. % 3250



2. ¥ 3400
3. % 3650
4. % 3760

Question Number : 46 Question Id : 97675519042 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U T B Ug 60 Ufard A ST 71 8 U7 b 37 70 Ufa=rd T "eran a1 g | afe T=AT 1632 81 9l g, d ardfdes Ter o At
Options :

1. % 3250

2. % 3400

3. % 3650

4. % 3760

Question Number : 47 Question Id : 97675519043 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A chair is sold at a profit of 34 percent. If value of profit is Rs. 1904, then what is the selling price of the chair?
Options :

1. ¥ Rs. 7504

2. % Rs. 8206

3. % Rs. 8808

4. % Rs. 9407

Question Number : 47 Question Id : 97675519043 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP FHI Bl 34 YA & ATH TR o9 791 ¢ | IS ATH BT A 1904 ¥ &, A HuT o1 fashd Hed 1 82
Options :

1. ¢ 7504 3T

2. % 8206 30



3. % 8808 ¥
4. % 9407 3UY

Question Number : 48 Question Id : 97675519044 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Cost price of a plate is thrice of the cost price of a glass. If glass is sold at a profit of 50 percent and plate is sold at a loss of 50 percent, then what
will be the overall loss percentage?

Options :

1. #* 42.5 percent
2. % 33.3 percent
3. % 28 percent
4. % 25 percent

Question Number : 48 Question Id : 97675519044 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP W &1 % Yed, Uh T & T Jed BT i A1 81 fS T H1 50 UTARId & a4 TR S0 1 § a1 Wi 1 50 Ufa<rd Pt g1 wR o=
T, A P g1 ufRId T 8

Options :

1. % 425 gfa=rd

2. % 333 gfaerd

3. % 28 Ufaerd

4. ¢ 25 gfagrd

Question Number : 49 Question Id : 97675519045 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ratio of the income of Vikrant and Manik is 6 : 5 respectively. Income of Manik gets doubled and his income become Rs. 2800 more than the
income of Vikrant. What is the income of Vikrant?

Options :
1. ¥ Rs. 4200



2. % Rs. 3500
3. # Rs. 4100
4. * Rs. 2800

Question Number : 49 Question Id : 97675519045 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faShTd qUT W1 1 31T BT U HHRT: 6 : 5 § | A BT AT QNI 81 STl & qUT STDT T fIhid BT 3T F 2800 FUY T BT A
2| fawid ot sma 82

Options :

1. ¢ 4200 30T

2. % 3500 3YY

3. % 4100 390

4. % 2800 7Y

Question Number : 50 Question Id : 97675519046 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

X:Y:Z=5:9:12. If sum of X and Z is 85, then what is the value of Y?
Options :

1. * 35

2.9 45

3. % 50

4. % 54

Question Number : 50 Question Id : 97675519046 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

X:Y:Z=5:9:12. 9 X AU ZBTAN 85 &, A Y BT A T 87
Options :

1. % 35



2. ¥ 45
3. % 50
4. % 54

Question Number : 51 Question Id : 97675519047 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Simple interest on a sum of Rs. 3200 is Rs. 1536 for four years. What is the rate of interest per annum?
Options :

1. # 8 percent

2. # 9 percent

3. % 10 percent

4. % 12 percent

Question Number : 51 Question Id : 97675519047 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3200 ST B Teh AT TR 4 I8 P 7T JTERUT TS 1536 ST 7 | Ufd IY TS P &2 T ]2
Options :

1. % g gid=rd

2. % 9 YfcRId

3. % 10 Ufc=Id

4.+ 12 gid=rd

Question Number : 52 Question Id : 97675519048 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Simple interest on a sum of Rs. 56000 is Rs. 21840 for ‘n’ years at the rate of 13 percent per annum. What is the compound interest
(compounding annually) on the same sum at the rate of 20 percent per annum for ‘n’ years?

Options :
1. ¥ Rs. 40768
2. % Rs. 41524



3. # Rs. 44526
4. * Rs. 42624

Question Number : 52 Question Id : 97675519048 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

56000 T P T TR TR 13 U= Ufd v &1 &To1 R T n’ TN o FoIU TTYRUT ST 21840 ¥ § | FHM AR W 20 Ufawrd ufd a9 ot
R Y’ T P foIU Ah g TS (ATNS IS UR) &1 52

Options :

1. ¢ 40768 3T

2. % 41524307

3. % 44526 900

4. % 42624307

Question Number : 53 Question Id : 97675519049 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ravi is moving at the speed of 20 metre/second. How much time will he take to cover a distance of 360 km?
Options :

1. ¥ 5 hours

2. % 4 hours

3. * 6 hours

4. % 8 hours

Question Number : 53 Question Id : 97675519049 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 20 HiexAdrs &t 1fd A T W 81 T8 360 fob. Y. B Ueb g8 1 08 B | foba11 qo Qe
Options :

1. ¢ 54

2. % 44¢



3. % ¢Hc
4. % gHc

Question Number : 54 Question Id : 97675519050 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Mohit and Vikas are 960 metres apart from each other. Mohit and Vikas are moving towards each other at speed of 126 km/hr and 162 km/hr
respectively. If they start moving at the same time, then in how much time will they meet each other?

Options :

1. # 8 seconds
2. ¥ 12 seconds
3. % 10 seconds

4, % 14 seconds

Question Number : 54 Question Id : 97675519050 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Hifed quT faeT T gk ¥ 960 Hiex @1 g8 WR g1 Hifed auT faehT Ueh g¥R & 3R HHT: 126 fob 1t /gt aun 162 f A ot nfa 3
T e o | Al d TH &1 THT TR I RH B &, l d Th gak 3 fha- 99 §1¢ e

Options :

1. % §Tqbg
2. ¥ 12UH 8
3. % 10Tdhe
4. % 1498

Question Number : 55 Question Id : 97675519051 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Pipe A can fill a tank in 4 hours. Pipe B can empty a completely fill tank in 16 hours. If both the pipes are opened together, then in how much
time will they fill this tank?

Options :

1. ¥ 4 hours 20 minutes



2. % 5 hours 20 minutes
3. #* 3 hours 30 minutes

4. % 6 hours 45 minutes

Question Number : 55 Question Id : 97675519051 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TIZY A ¢ DI 4 8¢ T MR Yhll ¢ | UI3T B TH TR W §UCH D 16 T T Well HR [obdl 71 TfS I UI3Y &1 T 1Y Wil T 8, Y 39
3% DI YA | 3 ford gmg

Options :

1. % 49 20 fie

2. 54¢ 20 e

3. % 3%¢ 30 fiFe

4. % ¢HC 45 e

Question Number : 56 Question Id : 97675519052 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

X and Y together can complete a work in 140 days. Y and Z together can complete the same work in 84 days. X and Z together can complete the
same work in 90 days. In how much time Z alone can complete the same work?

Options :

1. # 118 days
2. % 160 days
3. % 126 days
4. % 184 days

Question Number : 56 Question Id : 97675519052 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

X AUy FaeR e e &t 140 RAT R aR Thd &1 Y TUT Z e IaH i &1 84 fo7 H R R Iovd &1 X a7 Z Free v+ o
®190 AT A R HR THd § | Z 3fhal THH ST B! fba e H T B el 52

Options :




1. % ngfes
2. % 160 feT
3. ¢ 126 e
4. % 184 feq

Question Number : 57 Question Id : 97675519053 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If each side of a regular hexagon is 2 cm, then what is the area of the hexagon?
Options :

L% 3+/3 cm?
) % 244/3 cm?
3 % 24/3 cm?

4 v 6V3cm?

Question Number : 57 Question Id : 97675519053 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e T qH YTyl &1 Tde You 2 T g, O TeySl &1 8% d 1 82
Options :

| = 3WV3FA2

5 % 24/38.H?

3 % 2V33H?



4 v 6V3E.A?

Question Number : 58 Question Id : 97675519054 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The table given below shows the cost price and profit percentage of five articles.

. . Profit
Article Cost Price
Percentage
Al 600 30%
A2 300 20%
A3 500 10%
Ad 400 50%
AS 600 40%

Selling price = Cost Price + [(Cost Price * Profit percentage)'100]

Which of the following is CORRECT sequence of selling price?
Options :

1. % A5>A1>A4>A2>A3

2.% A1>A5>A4>A3>A2

3.9 A5>A1>A4>A3>A2

4. % A2>A3>A4>A1>A5

Question Number : 58 Question Id : 97675519054 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

SArer &1 1% ArforRr 9T aEgIT % T Hed Ul @1 Siaed & gerdr gl

ellH

B Rl R+

Al 600 30%
A2 300 20%
A3 500 10%
Ad 400 S50%
AS 600 40%

T 75w = &7 757 + (7 757 x @7 qiaerd)/100]
fr=fofEa & 9 #ia ar ey 757 & @ 79 2

Options :

1. % A5>A1>A4>A2>A3
2. % A1>A5>A4>A3>A2
3.9 A5> A1 >A4>A3>A2
4. % A2>A3>A4>Al1>A5

Question Number : 59 Question Id : 97675519055 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The bar graph given below shows the number of cars sold by six companies.

60
50 [ ]
40
30
20
H 10
Al
A B c D E F

What is the average number of cars sold by company A, B, C. D and E?
Options :

1. % 35

2.9 38

3. % 43

4. % 32

Question Number : 59 Question Id : 97675519055 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



ar e mar gus T o F9RAT @Rt §= 1 FRI Fr FE=w F @i g

60
50 [ ]
a0
30
20
10
7]
A B C D E F

FTaT A, B, C, D T E EaRT 3= 713 FRI @ Ataa & F4ar 272
Options :
1. % 35
2.9 38
3. % 43
4, % 32

Question Number : 60 Question Id : 97675519056 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The line chart given below shows the production of television and fridge by five companies.

500 L]
500
400
500
300, 400 300
200
200
=4 Q R 5 T
—a— Television —8=—Fridge

Which of the following statement is CORRECT?
I. The value of average of production of television by company P, Q and T is 300.
II. The ratio of production of television to the production of fridge by company Q are 2 : 1.

II1. The production of television by company R is 12 percent of the production of television by company S.
Options :
1.¥ Iand I
2. % Il and I1I
3. % T and III
4. % I 1l and III

Question Number : 60 Question Id : 97675519056 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



A= feIm e Y@ R O FUEE @R Sifeea 9w T & oI Y AT

500 e00
500
400
200
300 ano 300
200
200
P a R 5 T
—a E EEI ia{ﬂ o] —_ ﬁﬁ[

fF=afofaa # ¥ +i9 o1 Fa7 'dY 27

.9 P, Q 3T T eaRT Telifasia & 3iaa 3cea &1 A 300 g

I.F9AT Q @ Tfafaa & 3cares &1 by & e & 3 2 0 1 2

Il. 9T R 2aRT Eelifastal &, 3cdied &9l S SN, Colliaaied & 3caiea & 12 Fiaed gl
Options :
1. 1341
2. % T YT
3. % 1Y
4, % 1, AU
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Mandatory or Optional : Mandatory

Number of Questions : 16

Number of Questions to be attempted : 16

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 9767551220

Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 97675519057 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

We can be / loved for / which we are. / No error
Options :

1. * We can be

2. * loved for

3. % which we are.

4. % No error



Question Number : 61 Question Id : 97675519057 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

We can be / loved for / which we are. / No error
Options :

1. # We can be

2. # Joved for

3. ¥ which we are.

4. % No error

Question Number : 62 Question Id : 97675519058 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

We brought participants on / our lab to perform / a variety of tasks. / No error
Options :

1. ¥ We brought participants on

2. % our lab to perform

3. % avariety of tasks.

4. % No error

Question Number : 62 Question Id : 97675519058 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

We brought participants on / our lab to perform / a variety of tasks. / No error
Options :
1. ¥ We brought participants on

2. % our lab to perform



3. % avariety of tasks.

4. % No error

Question Number : 63 Question Id : 97675519059 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

The power of Dimitritsu is being believed by him.

Options :

1. # is being believed from
2. # is being believed by
3. # is been believed from

4. ¥ No improvement

Question Number : 63 Question Id : 97675519059 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

The power of Dimitritsu is being believed by him.

Options :

1. # is being believed from
2. # is being believed by
3. # is been believed from

4. ¥ No improvement

Question Number : 64 Question Id : 97675519060 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No



improvement’ as your answer.

People which are being shifted at resorts have started protests.

Options :

1. # which are being shifted to
2. % who are being shifted to
3. % who are being shifted at

4. # No improvement

Question Number : 64 Question Id : 97675519060 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

People which are being shifted at resorts have started protests.

Options :

1. % which are being shifted to
2. ¥ who are being shifted to
3. # who are being shifted at

4. % No improvement

Question Number : 65 Question Id : 97675519061 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word/words. Choose the CORRECT alternative.

Farmers get useful resources from the government.
Options :

1. % hard

2. ¥ hardly

3. ® had

4. # hardest



Question Number : 65 Question Id : 97675519061 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word/words. Choose the CORRECT alternative.

Farmers get useful resources from the government.
Options :

1. * hard

2. ¥ hardly

3. % had

4. * hardest

Question Number : 66 Question Id : 97675519062 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the CORRECT alternative.

Being in life is the best way to save money.
Options :

1. * dispel

2. * surgical

3. % economical

4. % quell

Question Number : 66 Question Id : 97675519062 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the CORRECT alternative.

Being in life is the best way to save money.
Options :
1. % dispel



2. # surgical
3. % economical
4. % quell

Question Number : 67 Question Id : 97675519063 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a
coherent paragraph.

P: Avalanches kill about 150 people a year in North America and Europe.

Q: In a slab avalanche, the mass of descending snow may reach a speed of 130 km per hour and is capable of destroying forests and small
villages in its path.

R: The size of a snow avalanche can range from a small shifting of loose snow, called sluffing, to the displacement of enormous slabs of snow.
S: Most of those killed are backcountry skiers, climbers, and snowmobilers who accidentally trigger an avalanche and become buried in the
SNOw.

Options :

1. # RPSQ
2. ¥ RQPS
3. ¥ SQRP
4. # RQSP

Question Number : 67 Question Id : 97675519063 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a
coherent paragraph.

P: Avalanches kill about 150 people a year in North America and Europe.

Q: In a slab avalanche, the mass of descending snow may reach a speed of 130 km per hour and is capable of destroying forests and small
villages in its path.

R: The size of a snow avalanche can range from a small shifting of loose snow, called sluffing, to the displacement of enormous slabs of snow.
S: Most of those killed are backcountry skiers, climbers, and snowmobilers who accidentally trigger an avalanche and become buried in the
SNow.

Options :



1. ¥ RPSQ
2. ¥ RQPS
3. # SQRP
4. % RQSP

Question Number : 68 Question Id : 97675519064 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a
coherent paragraph.

P: The largest spills have released tens of millions of gallons of oil and have resulted in fouled coastlines, polluted fisheries, dead and injured
wildlife, and lost tourism revenue.

Q: As a result of old and damaged equipment, extracting oil from the ground and moving it to refineries, occasionally releases oil into the
environment.

R: As oil use boomed, its refined products such as gasoline and diesel came to be used to fuel automobiles, ships, and other vehicles, and a
worldwide system of wells, ships, storage terminals, and pipelines grew.

S: Humans have used oil for thousands of years in medicine and weapons of war.

Options :

1. % QRSP
2. ¥ SRQP
3. % RQPS
4. % PQRS

Question Number : 68 Question Id : 97675519064 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a
coherent paragraph.

P: The largest spills have released tens of millions of gallons of oil and have resulted in fouled coastlines, polluted fisheries, dead and injured
wildlife, and lost tourism revenue.

Q: As a result of old and damaged equipment, extracting oil from the ground and moving it to refineries, occasionally releases oil into the
environment.

R: As oil use boomed, its refined products such as gasoline and diesel came to be used to fuel automobiles, ships, and other vehicles, and a



worldwide system of wells, ships, storage terminals, and pipelines grew.
S: Humans have used oil for thousands of years in medicine and weapons of war.

Options :

1. # QRSP
2. ¥ SRQP
3. % RQPS
4. % PQRS

Question Number : 69 Question Id : 97675519065 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that means the same as the given word.

Hopeless
Options :

1. # Hopeful
2. ¥ Unlucky
3. % Minimal
4. % Timid

Question Number : 69 Question Id : 97675519065 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that means the same as the given word.

Hopeless
Options :

1. * Hopeful
2. % Unlucky
3. ¥ Minimal
4. % Timid

Question Number : 70 Question Id : 97675519066 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Choose the word that is opposite in meaning to the given word.

Mature

Options :

1. # March

2. % Adolescent
3. % TIrradiate
4. #® Excel

Question Number : 70 Question Id : 97675519066 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that is opposite in meaning to the given word.

Mature

Options :

1. ¥ March

2. ¥ Adolescent
3. % Irradiate
4. #® Excel

Question Number : 71 Question Id : 97675519067 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the CORRECTLY spelt word.
Options :

1. % Assembaly

2. % Assemmbly

3. # Asembly

4. ¥ Assembly



Question Number : 71 Question Id : 97675519067 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the CORRECTLY spelt word.
Options :

1. # Assembaly

2. % Assemmbly

3. # Asembly

4. ¥ Assembly

Question Number : 72 Question Id : 97675519068 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the CORRECTLY spelt word.
Options :

1. ¥ Mortgege

2. % Mortegage

3. ¥ Mortgage

4. ¥ Morgage

Question Number : 72 Question Id : 97675519068 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the CORRECTLY spelt word.
Options :

1. * Mortgege

2. % Mortegage

3. ¥ Mortgage

4. % Morgage

Question Number : 73 Question Id : 97675519069 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

To drink like a fish

Options :

1. # To be a good swimmer
2. # To drown

3. ¥ To drink excessively

4. % To remain alive on a water diet

Question Number : 73 Question Id : 97675519069 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

To drink like a fish

Options :

1. # To be a good swimmer
2. % To drown

3. % To drink excessively

4. % To remain alive on a water diet

Question Number : 74 Question Id : 97675519070 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

At the rate of knots
Options :

1. * Work slowly

2. % At the suggestion of
3. % To be calm

4. ¥ Very fast



Question Number : 74 Question Id : 97675519070 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

At the rate of knots
Options :

1. # Work slowly

2. # At the suggestion of
3. % To be calm

4. ¥ Very fast

Question Number : 75 Question Id : 97675519071 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

A lover of mankind
Options :

1. # Malevolent
2. ¥ Philanthropist
3. % Apostate

4. % Bigot

Question Number : 75 Question Id : 97675519071 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

A lover of mankind
Options :

1. % Malevolent



2. % Philanthropist
3. % Apostate

4. ¥ Bigot

Sub-Section Number : 2
Sub-Section Id : 9767551221
Question Shuffling Allowed : Yes

Question Id : 97675519072 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (76 to 80)
Read the following passage carefully and answer the questions given below.

There are over 20,000 bee species and together they help pollinate more than 75% of the world’s leading food crops. Honeybees tend to hog the
limelight, but few realise how important diversity is to this process. Having lots of different species of pollinating insects on farmland can lead to
better crop yields, while crops attended by fewer species tend to set less fruit and produce fewer seeds.

Providing ample opportunities for a diverse range of insects to nest and forage on farms over long periods of time could make pollinator
communities more diverse and abundant. It may help keep pollination stable over several years too. That could mean mowing grass or pruning
hedgerows less often and planting wildflower strips alongside crops. Since many pollinators, particularly bees, nest in soil, allowing room for
bare ground and dead wood and limiting the use of agrochemicals could also make farmland habitats more attractive to a wide range of species.
We also found that if a particular species of solitary bee, bumblebee or honeybee was the most numerous on a patch of farmland throughout all
the years of the study, the overall number of pollinators was more stable too. A previous study found that a small minority of dominant species
often carries out the majority of crop pollination.

So, a short-term fix might be supporting the same dominant species from one year to the next. This could be achieved using managed pollinators,
such as honeybees or bumblebees. But this is not a sustainable solution. In the long term, farms with just a handful of pollinator species should
focus on boosting the diversity of their pollinator community.

While a few dominant species play an important role in pollinating crops at present, rebuilding the diversity of wild pollinators offers insurance
against future changes in the environment. If one dominant pollinator struggled to cope with rising temperatures or a disease outbreak, a diverse
community of other species could take over and prevent a collapse in crop pollination.

Sub questions

Question Number : 76 Question Id : 97675519073 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The given passage mainly focuses on:
Options :

1. ¥ the new research of boosting bee diversity to help stabilise crop production.



2. % pollinator insurance policy and the methods involved in it.
3. # the developments regarding production of various crops despite a disease outbreak.

4. # the understanding of crop failure at various places due to lack of pollinators.

Question Number : 77 Question Id : 97675519074 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following species of bees is NOT mentioned in the given passage?
Options :

1. ® Honeybees

2. % Bumblebees

3. % Solitary bees

4. ¥ Carpenter bees

Question Number : 78 Question Id : 97675519075 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which of the following statements is INCORRECT?

Options :

1. # Different species of pollinating insects on farmland can lead to better crop yields.

2. ¥ Exceeding the use of agrochemicals could make farmland habitats more attractive for pollinators.

3. % Ample opportunities for a diverse range of insects to nest could make pollinator communities more diverse.

4. # Rebuilding the diversity of wild pollinators offers insurance against future changes in the environment.

Question Number : 79 Question Id : 97675519076 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the SYNONYM of the word ‘limelight’ as used in the passage?
Options :

1. #® Volatile

2. # Obscurity

3. % Prominence

4. ¥ Battle



Question Number : 80 Question Id : 97675519077 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the ANTONYM of the word ‘abundant’ as used in the passage?
Options :

1. ® Generous

2. % Scant

3. % Prolific

4. % Fiscal

Question Id : 97675519072 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (76 to 80)
Read the following passage carefully and answer the questions given below.

There are over 20,000 bee species and together they help pollinate more than 75% of the world’s leading food crops. Honeybees tend to hog the
limelight, but few realise how important diversity is to this process. Having lots of different species of pollinating insects on farmland can lead to
better crop yields, while crops attended by fewer species tend to set less fruit and produce fewer seeds.

Providing ample opportunities for a diverse range of insects to nest and forage on farms over long periods of time could make pollinator
communities more diverse and abundant. It may help keep pollination stable over several years too. That could mean mowing grass or pruning
hedgerows less often and planting wildflower strips alongside crops. Since many pollinators, particularly bees, nest in soil, allowing room for
bare ground and dead wood and limiting the use of agrochemicals could also make farmland habitats more attractive to a wide range of species.
We also found that if a particular species of solitary bee, bumblebee or honeybee was the most numerous on a patch of farmland throughout all
the years of the study, the overall number of pollinators was more stable too. A previous study found that a small minority of dominant species
often carries out the majority of crop pollination.

So, a short-term fix might be supporting the same dominant species from one year to the next. This could be achieved using managed pollinators,
such as honeybees or bumblebees. But this is not a sustainable solution. In the long term, farms with just a handful of pollinator species should
focus on boosting the diversity of their pollinator community.

While a few dominant species play an important role in pollinating crops at present, rebuilding the diversity of wild pollinators offers insurance
against future changes in the environment. If one dominant pollinator struggled to cope with rising temperatures or a disease outbreak, a diverse
community of other species could take over and prevent a collapse in crop pollination.

Sub questions

Question Number : 76 Question Id : 97675519073 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

The given passage mainly focuses on:

Options :

1. ¥ the new research of boosting bee diversity to help stabilise crop production.

2. # pollinator insurance policy and the methods involved in it.

3. # the developments regarding production of various crops despite a disease outbreak.

4. % the understanding of crop failure at various places due to lack of pollinators.

Question Number : 77 Question Id : 97675519074 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following species of bees is NOT mentioned in the given passage?
Options :

1. # Honeybees

2. % Bumblebees

3. % Solitary bees

4. ¥ Carpenter bees

Question Number : 78 Question Id : 97675519075 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which of the following statements i1s INCORRECT?

Options :

1. # Different species of pollinating insects on farmland can lead to better crop yields.

2. ¥ Exceeding the use of agrochemicals could make farmland habitats more attractive for pollinators.

3. % Ample opportunities for a diverse range of insects to nest could make pollinator communities more diverse.

4. # Rebuilding the diversity of wild pollinators offers insurance against future changes in the environment.

Question Number : 79 Question Id : 97675519076 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the SYNONYM of the word ‘limelight’ as used in the passage?
Options :



1. * Volatile

2. * QObscurity
3. % Prominence
4. % Battle

Question Number : 80 Question Id : 97675519077 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the ANTONYM of the word ‘abundant’ as used in the passage?

Options :
1. * Generous
2. ¥ Scant
3. * Prolific
4. * Fiscal
General Hindi
Group Number : 5
Group Id : 976755624
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Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 97675519078 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau U Tse & T I fawse &1 9ga P

ST3Ta
Options :

1. % 3T+ 3
2. % S + 3
3. ¢ 31+ Blad
4. % 38T+ &

Question Number : 81 Question Id : 97675519078 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

QU U Teg & Tl I fA=sg &1 Tg S|

SIESICE]
Options :

1. # 3+ =dlqd
2. % 3= + 3
3. % 3 + Bl
4, % 3BT+ g




Question Number : 82 Question Id : 97675519079 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fT 71T 2req; 1 JHN F1d BT |

YIRGMH

Options :

1. % fg 9amy

2. % HUYRY THAN
3. % gg gHNY

4. ¥ Sgdife JH™

Question Number : 82 Question Id : 97675519079 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fT 77T Teg BT JHN J1d BT

BRI

Options :

1. % fg ey

2. % HHYRY A
3. % gg gAY

4. ¢ Sgdife qA

Question Number : 83 Question Id : 97675519080 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFofefad 7 3 &1 91 Wea e 82
Options :

1. = g

2. % Hol



3. % AR
4. ¢ qUS

Question Number : 83 Question Id : 97675519080 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fofad o ¥ 319 91 Xeg 319 57
Options :

1. % M

2. % Pt

3. % JCHR]

4. ¢ qUS

Question Number : 84 Question Id : 97675519081 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fqu 7 are & fad ®IFE &1 gfd w1
RTTHTYT GR G BT HUh HTT B | AFHTST BT ST I UICEGRI]

Options :

1. % faerg

2. % YH[ATHD
3. % faRIvIEHS
4. % GIHTHD

Question Number : 84 Question Id : 97675519081 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fqu 7 I & fRad ®IF &t gfd 1
RTPHTST IR SR 1 U HTNT g | AFHTST BT ST I KUIGRGHIE]

Options :



1. # faer™

2. ¢ YIgATHS
3. % foRIvT®
4. % IJHTHD

Question Number : 85 Question Id : 97675519082 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faT 7T Tsg 1 faeH Wsg 1A P
Khivrs]

Options :
1. % Igd
2. ¢ fA%S
3. % YbIRT
4. % 7Y

Question Number : 85 Question Id : 97675519082 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faU 7T Tsg 1 faei e s F1d BT
Khives)

Options :
1. % Ted
2. ¢ A&
3. % YhIRT
4. % Uy

Question Number : 86 Question Id : 97675519083 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fau 7Y Tsg 1 yataaTE! I1d ST

EE
Options :

1. ¥ g%

2. % AT
3. % fayy
4. % TSI

Question Number : 86 Question Id : 97675519083 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fT 7Y Trsg 1 yataaTE I1d ST

S
Options :

1. ¥ A8%

2. % AT
3. % fayy
4. % TS

Question Number : 87 Question Id : 97675519084 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafefad 2rsal # T Y ac-1 &1 70 Bl |
Options :

1. % e

2. % fUdmsR

3. ¥ Uqd

4. % Pia3



Question Number : 87 Question Id : 97675519084 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafeiad 2rsal & & Y5 ac-1 &1 99 Bl |
Options :

1. % e

2. % fUdmeR

3. ¢ Ugd

4. %P3

Question Number : 88 Question Id : 97675519085 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferRad a1l § ¥ R I BT I DI
Options :

1.  adAdT 9U™ A fgwat = 3fgd YfieT s

2. % 3Id: TadAd W | gl 7 38H YfHeT S|
3. % A GUH A gt A 1 3gH yffepT S|

4. % 59 =<l 7 3gH YHPT MR a9 WodT I g3 |

Question Number : 88 Question Id : 97675519085 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiad aredl # ¥ e I &1 99 B
Options :

1. ¥ TcAar 9 | fg<l 7 3eH YHeT TS |

2. % 3T WoAar 9 | =l A 3reH YHewT Ay |
3. % go=ar 9 | = A < 3red YfHeT Ay |

4. % 9 gt 7 3187 Y1 AUTS 99 Wd=a1 i g5 |

Question Number : 89 Question Id : 97675519086 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

faferiRad areil B O SgeRt are &1 =98 ifod |

Options :

1. % TR & ST §1 W5 SR 81 ST § 3R 39! He-d BRI gl Sifcl 5|
2. % Tig- dHR g1 ST & Fife Tien A ST gl

3. ¢ g HEd ol 9gd BT § fdbrg URIET P X U SR 1 o1l g |

4. % g BE1d A 9gd Bl § 3R oI 81 TRI&T 3Tl § 98 SR 81 o1l G|

Question Number : 89 Question Id : 97675519086 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafRad aredl & 3 Tyad 91 &1 98 Hifor|

Options :

1. % Te & 317 g1 e SR 8 SIaT g 3R 3! Agd W1 8l e g |
2. % Tigd AR 8 91T & FRiifes udien J ST

3. ¢ g BE1d <l 9gd Rl ¢ [ TRIET & X I §THAR g1 ST g |

4. % e AgId <) g PRl & 3R S & Tef 31t 8 98 AR 8 S 8|

Question Number : 90 Question Id : 97675519087 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frfeRad # & THfeRT I1d Siferu
Options :

1. ¢ TR

2. % gD

3. % gdd

4. % AR

Question Number : 90 Question Id : 97675519087 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
frfeRad & & THfeRT I1d Siferu
Options :

1. v GOR

2. % flyeeh

3. % qdd

4. % AR

Question Number : 91 Question Id : 97675519088 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafaRad areg © ®1a 3Md iU
Y YA AT &1 3Mg 14 TN

Options :

1. ¢ Qg I
2. % iy gdam
3. % S0l 4d

4. % YT gdq™

Question Number : 91 Question Id : 97675519088 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFufaRad areg ® &1a sFd pifvT|
2 gAY il 1 31 14 98 g

Options :

1. ¢ Qg aaHHE
2. % Jfery gdam
3. % 3rquf uyd

4. % FHTH IdHH



Question Number : 92 Question Id : 97675519089 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fou ¢ gt # Ty forme g &1 SUaiT fohan S S9! ugad Sifvg|
o 39 U1 & o1 F e a8 §gd Wid WHa & 3|

Options :
.= 1,
2.9 |

3.% <

4.% 9

2

Question Number : 92 Question Id : 97675519089 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fou U gt # Ty forme g &1 SUaiT fohan SEen S9! ugad Sifvg|
T 39 a1 & o H e a8 §gd Wid WHa & 3|

Options :
.= 1,
2.9 |

3.% <

4. % )7

Question Number : 93 Question Id : 97675519090 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed oy & fou U aR fawedl 8§ 9§, 39 fawed &1 999 o S faU 0 GgTak & 3 &1 a98 T ¥ ad Rl 5|
3T BT HiY

Options :

1. ¢ ®uc! fim




2. % gIGR fiF
3. % T ol
4. % ga1fiA

Question Number : 93 Question Id : 97675519090 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed oy & fou U aR fawedl 8§ 9, 39 fawed &1 99 o S faU 0 GgTak & 3l &1 9a98 T ¥ ad Rl 5|
3T BT FiT

Options :

1. ¢ DUl o
2. % gBICR i
3. % I g
4. % go1 o=

Question Number : 94 Question Id : 97675519091 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, fiu U IR fawedl & 9, 39 faded o1 9o 3 o1 3T 70 JeTer & 31 &1 Jd9§ U ¥ oJad Hral o |
33 TreT

Options :

1. % Ol BT

2. ¢ WIS DI 33T 1G]
3. % HTH 316 BT

4. % BT BIA 8Id fIT1S ST

Question Number : 94 Question Id : 97675519091 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



frafafad uy o, fau 7T IR fdwmed O 9, 39 fadhed &1 70 3 o1t [T U GRTar & 31 &1 Ja9§ U W oJad Hrdl 6 |

3{13 =1
Options :

1. % TGl HRAT

2. ¥ 1G B I Q]

3. % HH 3B gl

4. % ST BIA BId foTS ST

Question Number : 95 Question Id : 97675519092 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad ue ), fau U IR faweat & 9§, 39 faden &1 7997 & S fou U geTak & 31 ol Ia9% U § ogad Rl g |
ZIcyc I YT, T It ST Tt

Options :

1. % Sedl-See! § 9 3R Ui e S
2. % q 3R U WRIE HAT

3. ¢ SIcgl 1 BIH BT ol gidl

4, % Y3 EIa- H $S Td T8l il

Question Number : 95 Question Id : 97675519092 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraforiad we o, fou 0 oR fawedl & 9, 39 fadmed &1 997 & S fou U geTark & 31 ol Ia9% U I oJad HRdl ¢ |
ZIeUe B Y, ST I ST T

Options :

1. % Sed]-Sfee! H I 3R U e ST
2. % dd 3R UM WRIG HAT

3. ¥ el T BTH 33T e gl

4. % o e A o @ Tl gl




Sub-Section Number : 2
Sub-Section Id : 9767551223
Question Shuffling Allowed : Yes

Question Id : 97675519093 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (96 to 100)

TRITRI 1 YD Ug 31 3T T4 Uil 1 Tt SaR S

fe 3HTel AR YW W A H(hobx Yl 1 ¢ ol G 51 3 Yl B Ugar Ui ford o -3l Il 9Iel Ugdl o1 T4 3| 3HH] Ay1-a1
HRUT g faF & TG TR & HRUT ATHI 2 S8 T daad | 34 < I8 dadd U= &I YT Arae 39 U8 ddb ol Ugdl g | HRd &l
I Grrf'l\-lql"l x| dlvil 3‘ﬁ? UI& 3alerUl %l

YR 7 24 RdsR, 2014 B AT B HIHIE B Hefl § ThaAdde RAMUT B b 197 3deN 3 fadT| YRd 3 I8 Sudfs 30 U™
AT H B Sffold B2 o | Tad St §1d o I8 2 fop YR THT = aTel Ugll SR & | SMAR®T & 3R U ¥9 SRk} i & 98

B ddl U H s T B US | ST 81 781 T4 3R SITUH &l 36 T I8 Jhadl U el 81 Job! & | HIaar HolH ard - 9% d <2l
& AUl o=l & FaId H Tl o= & T G|

39 AR 1 HiA (T, 30.TH.) S1ufe Hr=f afiffefe fr & =8 @ ST Sfra 8 | Uy RaH1e) 31 Ao # HRdI Sidied srgeur
TG & JMHD! gRT I3 T, T TH. TUT 3716 BIC RS DI Uosaierd (T 77| 3 T U ATae &1 H& 8 uga- & adb aiTHT Tdh
T 199G 11 39 A= &1 Gohardl & Gaiey 8 Uer=aat 8t R Aidl A der o foe 7. o 1. g8 AR =8 |

Sub questions

Question Number : 96 Question Id : 97675519094 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 I H T3 T R b ford e 9§ S ST 62
Options :

1.« 7 3iffeieRr foRmy

2. % YlTHUedl-C37

3. % SfiTgUerd! THS 111-81 1

4. % HICIYC-2 YT IUUTE

Question Number : 97 Question Id : 97675519095 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Y TR & gl e &1 T9aq B |
Options :

1. ¢ HId fIRE

2. % Sl gI3¢ 30

3. % ORgdce

4. % SR fRre

Question Number : 98 Question Id : 97675519096 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YRd BT DI AT I T 3R Tl IaTex0 57
Options :

1. % 9g

2. ¢ HITA

3. % gl

4. % ¢d

Question Number : 99 Question Id : 97675519097 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YR A HE AT RIIUd fbam
Options :

1. % 24 BRG], 2014

2. % 24 SHaRI, 2014

3. ¢ 24 AR, 2014

4. % 24 3T, 2014

Question Number : 100 Question Id : 97675519098 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Y T &) R 811 § fba gug am

Options :



1. % olITHIT 2 9gIdd
2. % TIHIT 1 9Ted
3. % CIITHIT 1.5 91t
4. % CITHIT 3 Il

Question Id : 97675519093 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (96 to 100)

TRITRI 1 YD Ug 31R T T4 Uil 1 Tt SaR S |

fe 3HTel AR YW W A H(hobx Yl 1 ¢ ol G 51 3 Yl B Ugar Ui ford o -3l Il 9Iel Ugdl o1 T4 3| 3HH] Ay1-a1
HRUT g faF & TG TR & HRUT ATHI 2 S8 T daad | 34 < I8 dadd U= &I YT Arae 39 U8 ddb ol Ugdl g | HRd &l
I \’rl'f'l\-lql"l x| dlvil 3‘ﬁ? UI& 3alerUl %l

YR 7 24 RdsR, 2014 B AT S HIHIE B Hefl H Thadgde RATMUT B b 997 3deN 3 fadT| YRd 3 I8 Sudfs 30 U™
AT H B Sffold HR o | Tad St §1d o I8 2 fop YR THT =1 aTel Ug el S & | SARET & 3R U ¥9 ok} [ & 98

T ddl U H s T B US | ST 81 781 T4 3R SITUH &l 31d T g Jhadl U el 81 Job! g | HIaar HolH ard - 9% d <2l
& AUl o=l & FaId H TIT o= & T G|

39 AR 1 HiF (T, 30.TH.) S1ufe Hr=f afiffefe fr & =18 @ ST S 8 | Uy RaHie) 3 Ao # HRdI Sidied srgu™
TG & IHD! gRT I3 T, T TH. TUT 3716 BIC RS DI Uosaierd (T 77| 3 T U ATae &1 H& 8 Uga- & adb aTHT T
T 199G 11 39 A= &1 Gohardr & Gaie 8 Uer=aat 8t R Al A der o fov 7. off. 1. g8 AR =8 |

Sub questions

Question Number : 96 Question Id : 97675519094 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 I H T3 T R b ford e 9§ S ST 62
Options :

1.« 7 3iffeieR foRmy

2. % UigqUadl-c37

3. % SfiTHUerd! THS 111-81 1

4. % HICIYC-2 YT IUUTE

Question Number : 97 Question Id : 97675519095 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Y TR & gl e &1 T9aq B |
Options :

1. ¢ HId fIRE

2. % Sl gI3¢ 30

3. % ORgdce

4. % SR fRre

Question Number : 98 Question Id : 97675519096 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YRd BT DI AT I T 3R T IaTeR0 57
Options :

1. % 9g

2. ¢ HITA

3. % gl

4. % ¢d

Question Number : 99 Question Id : 97675519097 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YR A HE AT RIIUd fbam
Options :

1. % 24 BRG], 2014

2. % 24 S, 2014

3. ¢ 24 AR, 2014

4. % 24 3T, 2014

Question Number : 100 Question Id : 97675519098 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Y T &1 W 81 § fova= 997 @

Options :

1. * IHIT 2 91
2. % THTHIT 1 91
3. % CIHIT 1.5 91T
4, % IHIT 3 91
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Question Number : 101 Question Id : 97675519099 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The two or more macromolecules mechanically-interlocked with each other to give
Options :

1. # Clatherates

2. % Cyclodextrin

3. % Rotaxanes

4. ¥ Catenanes

Question Number : 101 Question Id : 97675519099 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FRIAR: I RE A 37 & 1T U R & 1Y Fif3e-3id:uTRr a1 B
Options :

1. % qaYey

2. ¥ YrEFlsRIeH

3. % AR

4. ¥ B

Question Number : 102 Question Id : 97675519100 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Supramolecular chemistry is defined as

Options :

1. ¥ chemical systems of discrete number of molecules
2. # inline chemistry

3. # clean chemistry

4. # chemistry of assumption

Question Number : 102 Question Id : 97675519100 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

JRATARITR B B & =0 § uRuiid frar man g
Options :

1. ¢ S{UI3{I DT S TAT dTel U e

2. % SIS I XM

3. #® Wd= G R

4. % QA TG R

Question Number : 103 Question Id : 97675519101 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Cyclodextrin has a shape of

Options :

1. # Saucer

2. ¥ Truncated cone

3. % Bowl

4. ¥ Plate

Question Number : 103 Question Id : 97675519101 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
qEaaISRITe BT SHR g gl
Options :

1. % TR (ARR)

2. ¢ ¥SAUF (CHhes H)

3. % dI3d

4. % @c

Question Number : 104 Question Id : 97675519102 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

ST3-3{ehI3d SHIATH B 3R B3 SUR & o9 B3 IoH b Wi SUTNT B & = T ST ST g |
Options :

1. % 3R

2. % eI

3. ¢ AR

4. % Sfqe

~

Question Number : 104 Question Id : 97675519102 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
An indigenous use of hydrogen between di-alkyl ammonium cation and crown ether is known as

Options :

1. # Hexene
2. # Phosgene
3. ¥ Rotaxanes
4. ¥ Dextrin

Question Number : 105 Question Id : 97675519103 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the cause for the formation of free radical?
Options :

1. # Hydrogen bond formation

2. % Hetrolytic fission

3. % Homolytic fission

4. % Jonization

Question Number : 105 Question Id : 97675519103 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Hod JA% & g1 BT HRUT T 82




Options :

1. % gISoioF ey fAHfor
2. % fawymargucHt fawe
3. ¢ gH3YcHY faked
4. % ITIHRT

Question Number : 106 Question Id : 97675519104 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which amongst the following is short lived and highly reactive in nature?
Options :

1. % carbocation

2. ® carbanion

3. ¥ carbene

4. % free radical

Question Number : 106 Question Id : 97675519104 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad @ 9 & 91, Uehid H sieusiiasd iR srafde sififsmaria g2
Options :

1. % BB

2. % DB

3. ¥ HIEH

4, % Hdd HdPh

Question Number : 107 Question Id : 97675519105 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The most stable free radical is
Options :



1. # primary
2. # secondary
3. ¥ tertiary
4. ¥ methyl

Question Number : 107 Question Id : 97675519105 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T FRR gad A gl
Options :

1. % gryfie

2. % fgdige

3. JdlgS

4. % foyrgd

Question Number : 108 Question Id : 97675519106 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The geometry of carbocation is

Options :

1. # Tetrahedral

2. % Trigonal Planar

3. ® Linear

4. % Square Planar

Question Number : 108 Question Id : 97675519106 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
BIEHIBRU B SR gl

Options :
1. % gHdA



2. ¢ B@ivig gudd
3. % Qe
4. ® g gAAA

Question Number : 109 Question Id : 97675519107 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The energy of one-dimensional box is
Options :

1.« E= n?h?/8mi 2
> ® E=nh/mL

3 % E=h/8mL

4 % E= n?

Question Number : 109 Question Id : 97675519107 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T fariva wef B Holf gl

Options :

1.« E= n?h?/gmr 2
5 # E=nh/mL
3 # E=h/8mL

4. % E=J_‘l2



Question Number : 110 Question Id : 97675519108 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The degeneracy of the energy level of hydrogen atom is given by
Options :

1. % n

2. % p3

3. ¢ n?

4. % 2n

Question Number : 110 Question Id : 97675519108 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BIZSIoH TRATY & Foll &R BT FRTae ERERE
Options :

I.* n

2. % 3

3. ¢ n?

4. % 2n

Question Number : 111 Question Id : 97675519109 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The Lanthanide which is acting as a strong oxidising reagent is

Options :

1. % Eu(2+)
2. % Ce(4+)
3. % Ce(2+)
4. % Eu(3+)



Question Number : 111 Question Id : 97675519109 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TITZE SNl Uad SHTRfHr S & 0§ T B @1 ¢ a8 gl
Options :

1. ®* Eu(2+)

2. ¥ Ce(4+)

3. % Ce(2+)

4. % Eu(3+)

Question Number : 112 Question Id : 97675519110 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The d-block element in 3d series having only one oxidation state is
Options :

1. ¥ Zn

2. % Sc

3. % Ti

4. % Cu

Question Number : 112 Question Id : 97675519110 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Had U TN SR a1 3d 907t & d-dlh dd &l
Options :

1.¥ Zn

2. % Sc

3. % Ti

4. % Cu

Question Number : 113 Question Id : 97675519111 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which amongst the following is NOT the transition element?
Options :

l.*V

2. % Cr

3. * Mn

4. Zn

Question Number : 113 Question Id : 97675519111 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFafiRed # ¥ D 91 YohH01 Id 781 o7
Options :

l.*V

2. % Cr

3. % Mn

4. ¥ Zn

Question Number : 114 Question Id : 97675519112 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the value of Bohr Magneton for Mn in divalent state?
Options :

1. * 3.87 BM

2. % 490 BM

3. ¥ 592 BM

4. % 237BM

Question Number : 114 Question Id : 97675519112 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fgdaSe 3/aRIT H Mn & folT Sig Aiied &1 1 1 82
Options :

1. % 387 BM

2. % 490 BM

3. 5.92 BM

4. % 237 BM

Question Number : 115 Question Id : 97675519113 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In UV-visible spectroscopy the shift of absorption to a longer wavelength due to the substitution effect is known as

Options :

1. % Chromophore

2. % Auxochrome

3. % Bathochromic shift
4. ¥ Hypsochromic shift

Question Number : 115 Question Id : 97675519113 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UV-ER0H Wae R 14T H UfeRiTa= THTd & HRUT Sa=iyur fRive, ofell a¥v1 eef & faw g & ¥ H ST ST g
Options :

1. % JUHAD (HHIBR)

2. % guigdes (Siiaarepie)

3. ¢ SIS Rige

4. % gREDING Rde

Question Number : 116 Question Id : 97675519114 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A group of organic species which is responsible for the electronic absorption is known as
Options :



1. ¥ Auxochrome
2. % Hyperchromic effect
3. % Hypochromic effect
4. ¥ Chromophore

Question Number : 116 Question Id : 97675519114 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HIEHD Gl BT U THE SNl 3adei-db IRl & fore oiiieR § 98 & =0 H ST ST g |
Options :

1. % guigefe (3MTaRIIhIH)

2. % 3ifagull GRWHIHG) UHE

3. % YUl (FTSUIShITHD) UHTd

4. ¥ TUAD (HHBR)

Question Number : 117 Question Id : 97675519115 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the base value for the maximum wavelength in the Homoannular Diene?
Options :

1. ¥ 253 nm

2. % 214 nm

3. % 263 nm

4, % 268 nm

Question Number : 117 Question Id : 97675519115 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

THaedl STea H fha a¥i & & foTg SR 7 &1 52
Options :

1. ¥ 253 nm




2. % 214 nm
3. # 263 nm
4. % 268 nm

Question Number : 118 Question Id : 97675519116 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the calculation of Homo or Hetro annular diene, the increment for ring residue is observed by
Options :

1. ¥ 5nm

2. % 30 nm

3. % 60 nm

4. % 25 nm

Question Number : 118 Question Id : 97675519116 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

JHA 1 fauAde S35 B UM H, 9o 3afiy & o gfg SR O ) o B
Options :

1. ¥ 5nm

2. % 30 nm

3. % 60 nm

4, % 25nm

Question Number : 119 Question Id : 97675519117 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The highest chemical shift value in the proton NMR spectroscopy is observed for
Options :

1. # Aldehyde

2. % Alcohol

3. ¥ Carboxylic acid



4. % Ketone

Question Number : 119 Question Id : 97675519117 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ul TH.TH.3R. (NMR) W R H I=rdd I R0 4H & fom Ofera fear ST 81
Options :

1. * UfceTss

2. % JeHIBIA

3. ¥ HTEIRITaS TR

4. % PIcH

Question Number : 120 Question Id : 97675519118 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the time taken to complete 99.9% of a first order reaction, if half-life of the reaction is 30 mins?
Options :

1. ¥ 300 min

2. % 90 min

3. % 60 min

4. % 240 min

Question Number : 120 Question Id : 97675519118 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ty Hife BT BT BT 99.9% TR 3 H ford=1 T oran 3, afe siftiferar 3ref 31g 30 min e 32
Options :

1. % 300 min

2. ¥ 90 min

3. ¥ 60 min

4. ® 240 min
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Question Number : 121 Question Id : 97675519119 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the expression for the Half-life of first order reaction?
Options :



1. *® k/2.303
2. % 2303k
3. ¥ 0.693/k
4. % 0.693k

Question Number : 121 Question Id : 97675519119 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T Hife TR & 31ef-31Tg &1 T F1 52
Options :

1. % k/2.303

2. % 2303k

3. ¥ 0.693/k

4. % 0.693k

Question Number : 122 Question Id : 97675519120 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the formula of cubane like ferredoxin?
Options :

1. ® FeS

2. * F6282

3. o FC4S4

4, * F632

Question Number : 122 Question Id : 97675519120 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TS S BRI BT G &1 82
Options :

1. % FeS



2. * F6282
3. v FG4S4
4. * F682

Question Number : 123 Question Id : 97675519121 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The metal present in carbonic anhydrase is

Options :
1. ¥ Mn
2. % Fe
3.¥ 7Zn
4. % Mg

Question Number : 123 Question Id : 97675519121 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
PIET-D TTeIEgs | ANG Td gl
Options :

1. ¥ Mn

2. % Fe

3.% 7Zn

4. % Mg

Question Number : 124 Question Id : 97675519122 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the role of myoglobin in the body?
Options :

1. #* Depose of CO,

2. ¥ Maintains pressure



3. #* Transfer electron

4. ¥ Store oxygen

Question Number : 124 Question Id : 97675519122 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TR F ARINGIS BT T YfEeT 8t 37
Options :

1. % CO, Bl epTa 11

2. % qld dT¢ XY

3. % AT RIMIARU HRAT|

4. & SIS TR HRATI

Question Number : 125 Question Id : 97675519123 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which amongst the following is the non-heme protein?
Options :

1. ¥ Hemocyanin

2. # Cytochrome ¢

3. % Hemoglobin

4. ¥ Myoglobin

Question Number : 125 Question Id : 97675519123 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFrafaRad o 9 &F 91 AH-818 Ui 52
Options :

1. ¢ U

2. % HIECIhIA

3. % gHNdIe



4. ® ARG

Question Number : 126 Question Id : 97675519124 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the range of wavelength for vacuum UV?
Options :

1. % 150-250 nm

2. % 200-300 nm

3. ¥ 100-200 nm

4. % 200-350 nm

Question Number : 126 Question Id : 97675519124 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
dogH gdl & forg o aed b1 i Rt g2
Options :

1. % 150-250 nm

2. % 200-300 nm

3. ¥ 100-200 nm

4. % 200-350 nm

Question Number : 127 Question Id : 97675519125 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The emission of electron from S; to S state in light form is known as
Options :

1. # Excitation

2. # Vibrational relaxation

3. # Internal Conversion

4. % Fluorescence



Question Number : 127 Question Id : 97675519125 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

THIRIFUH S; T S, TR H ST BT S0 & 9§ TET S g |
Options :

1. % Jo

2. % HUiD Hifd

3. % JdR® FUIR

4.+ facia

Question Number : 128 Question Id : 97675519126 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The emission of electrons from the higher excited state to lower excited state in the form of heat in the Jablonski diagram is
Options :

1. ¥ Internal Conversion

2. % Excitation

3. # Intersystem crossing

4. % Phosphorescence

Question Number : 128 Question Id : 97675519126 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SIFAR! 3G H HWT & ¥ U H I I a1 Y IARTd Srawi1 | saaei-l b1 S gl

~

Options :

1. ¢ 3R iRl
2. % Il

3. % JARIdT URITHA

4, % TpREI




Question Number : 129 Question Id : 97675519127 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the energy of the photon?

Options :

1. % E=hc
2. ¥ E=hv
3. % E=h/mv
4, % E=h/A

Question Number : 129 Question Id : 97675519127 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HICH B Soll 31 57
Options :

1. % E=hc

2. ¥ E=hv

3. ®* E=h/mv

4. % E=h/A

Question Number : 130 Question Id : 97675519128 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Why single crystal X-ray diffraction is done for unknown crystals?
Options :

1. # To find flaws

2. # To understand the shape

3. ¥ To determine Bond Length

4. % To remove stress

Question Number : 130 Question Id : 97675519128 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

SR fored o o Tt fobRed T faa= ot fopam STt 2
Options :

1. % Il Bl Glei o fog

2. % 3TPHId DI JHIH & forg

3. ¥ SIS B daTs MG B & for

4. % Yfddd @R dxA o forg

Question Number : 131 Question Id : 97675519129 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The advantage of Neutron diffraction over X-ray diffraction is in its
Options :

1. # less energy loss

2. % area of focus

3. % stress level

4. ¥ penetration power

Question Number : 131 Question Id : 97675519129 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T fdare W g faad= &1 v 54 ]
Options :

1. ® HH Sl gl

2. % BIHY & &

3. % Jfded TR

4, & e e

Question Number : 132 Question Id : 97675519130 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



What is the selection rule for the rotational spectra of diatomic molecules?

Options :

1.¥ Al=+1or-1
2.% AJ=0

3. % Al=1

4. % AJ=2

Question Number : 132 Question Id : 97675519130 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FEORHATUL 3rup3Ti & Uil W & forg =g o1 Faw w82

Options :

1.¥ AJ=+1or-1
2. % AJ=0

3.% Al=1

4. % AJ=2

Question Number : 133 Question Id : 97675519131 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Degeneracy for diatomic molecule in rotational energy level is

Options :
1. % 2]-1
2.%0
3.92]+1
4. % 2]

Question Number : 133 Question Id : 97675519131 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Uff Gl &R H fEuRmTUs 310] % R s gl

Options :



1. % 2]-1
2.%0
3.9 2] +1
4, % 2]

Question Number : 134 Question Id : 97675519132 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The determination of risk based on descriptive and mechanistic studies and developing safety regulations is called
Options :

1. ¥ Regulatory Toxicology

2. # Descriptive Toxicology

3. # Clinical Toxicology

4. ¥ Mechanistic Toxicology

Question Number : 134 Question Id : 97675519132 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faaRuTe® SR foraTfafiies sieaem & SMUR W SeH & FuiRor 3R wWRef fafem & fawr &1 EZ SIS
Options :

1. ¢ Fame fawfagm

2. % fqaRunaAS faufazm

3. % JaIe fawfag™

4. % fourfafde faufdgm

Question Number : 135 Question Id : 97675519133 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Toxicology is used to:

1. Study harmful effects of chemical and physical agents on organisms



2. Assess the probability of hazards by adverse effects
3. Predict effects on individuals, populations and ecosystems

Options :

1. % land2

2. % 2and3

3.% land 3

4.¢ All'1,2 and 3

Question Number : 135 Question Id : 97675519133 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faufasm &1 U far sirar 8:

1. Sitdl IR ITfAe 3R Hifdd HRP & slNeRS UHE! & 31e0u- & g

2. Ui d THTal ¥ Rl Bl YU & 3HTdha o folT

3. forelt v aafaa, afaaal & Tg iR IR o TR T THTd & e & forg
Options :

1. % 13R2

2. % 233

3. % 133

4. 1,2 3R 33

Question Number : 136 Question Id : 97675519134 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is/are related to Classical Toxicology?

a. Whole animal studies
b. In-vitro/vivo models
c. Gene environment interactions

Options :
l. % Only b
2.% Only a



3. % Onlyc
4. % Alla,bandc

Question Number : 136 Question Id : 97675519134 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frafied o @ o1 uRuRe faufagm @ d&fid /89

a. Q0T U] ST
b. 31-Idcl/faal ATed
. ST 3R JHiaRUT % YRR YHTT

Options :

1. % Bad b

2. Hdd a

3. % Bhdd ¢

4. ® a,bGﬁTcﬂlﬂ

Question Number : 137 Question Id : 97675519135 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following are primary routes of exposure?

1. Dermal

2. Respiratory

3. Dental

4. Gastrointestinal

Options :

1. % 1,2and 3
2. % 2 3and 4
3.¥ 1,2and 4
4. % 1,3and 4



Question Number : 137 Question Id : 97675519135 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Foffad 7 3 o1 Sifew & uufiie anf 62

1. g

2. 4
.80

4. &
Options :

1. % 1,233
2. %2 334
3.9 1,2 3R 4
4. % 1,3 3R 4

Question Number : 138 Question Id : 97675519136 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT related to ADMET studies?
Options :

1. * Absorption

2. * Metabolism

3. * Elimination

4. ¥ Division

Question Number : 138 Question Id : 97675519136 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafaa ¥ P TS THI A (ADMET) 31erg 3§ Tefdd T8l 82
Options :

1. % 3NN



2. % JUIgAY
3. % AT &
4. ¢ fayreq

Question Number : 139 Question Id : 97675519137 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is TRUE about Bioaccumulation?

a. Accumulation of substances, such as pesticides or organic chemicals in an organism or part of an organism
b. Biological sequestering through intestines and skin contact

Options :

1. * Bothaand b
2. % Only b

3.4 Only a

4. # Neither anorb

Question Number : 139 Question Id : 97675519137 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g G & IR H Fafefed § 9 oH 3§ vy ad 52

a. fop it Sfia a1 ofid & 8 | PBleTed! a1 HreHe I oI YT BT Ty
b. 37idl 3R @A & YUD o ATHH I Sfdd SHHUl

Options :

1. % 2 3R b Ml

2. % Bhad b

3. ¢ $hdda

4, % '_‘[?‘ﬁaGﬁT:ﬂ_s%b

Question Number : 140 Question Id : 97675519138 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
95% of the xenobiotic is lost in

Options :

1. ¥ 4.32 half-lives

2. % 1.00 half-lives

3. % 6.64 half-lives

4. % 3.32 half-lives

Question Number : 140 Question Id : 97675519138 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SFEe S BT 95% HAP B ST B

Options :
1. ¢ 4.32 3¢ SiaH
2. % 1.00 3¢ St
3. % 6.64 34 St
4. % 332 3¢ SftaH
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Question Number : 141 Question Id : 97675519139 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The [Isopropanol + CCl4] is what type of a chemical interaction?
Options :

1. # Antagonism

2. % Potentiation

3. % Additive

4. % Synergistic

Question Number : 141 Question Id : 97675519139 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

[T + CCl4] fFT UBR &1 I Sia:forar g2
Options :

1. % faRuet

2. % Jdd

3. % YNIAD

4. % Hgibarita




Question Number : 142 Question Id : 97675519140 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which statement is/are TRUE for Dispositional antagonism?

a. chemical reaction between two compounds that produces a less toxic product
b. it alters A, D, M or E to that concentration or duration at which target site is diminished
c. one of its example is epinephrine diazepam.

Options :

1. ¥ Only b

2. % Onlyc

3. ® Onlya

4. % Bothbandc

Question Number : 142 Question Id : 97675519140 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ty faRieht (Fewishiera Germfaed) & fofe &9 /A $Y- 94 8782

a. T AT & S IS SAfHfchaT St T o AN IdTe BT IdTe Bl §

b. T8 A, D, M TT E &I I THTIAT 1 3afd H §cd <al § o IR 187 T3¢ HH 81 9l 8
c. TP ICTERV IRD W, AW 3R STSTIH §

Options :

1.¥ $ad b
2. % $Had c
3. % ®Hdda
4, = b\’rﬁ?c?ﬁ:ﬁ

Question Number : 143 Question Id : 97675519141 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is/are endogenous substrate in Glucuronidation, a phase II reaction?



1. Thyroxine

2. Bilirubin

3. Serotonin

4. Catecholamines

Options :

1. % 1,2and 3

2. % 2 3and 4

3. 1.2and 4

4. % All1,2,3and 4

Question Number : 143 Question Id : 97675519141 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad # 9 oF [q@RIMSYH § siduld g (Asee) §, S &al (o) 11 3AfNfhar g2

1. YTERITRTT
2. focrefeq

3. W=

4. PeDHIAHST
Options :

1. % 1,23R3

2. %2 334

3.¢ 1,284

4. % 1,2,3 3R 49+

Question Number : 144 Question Id : 97675519142 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Metal toxicity depends on:

a. route of exposure
b. duration of exposure
c. absorbed dosage



Options :

1. % Onlya

2. % Only b

3. % Onlyc

4. % Alla,band c

Question Number : 144 Question Id : 97675519142 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YT ! fauTad ford IR R et 62

a. TOUIOR & AFf IR
b. TRIUISR B} 31afY TR
c. SARNT GRIH R

Options :

1. % $Hada

2. % had b

3. % ®hdd ¢

4, %/a,b\’rﬁ?cﬂlﬁ

Question Number : 145 Question Id : 97675519143 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following are sources of lead in the environment?

1. Paint
2. Soil wastes

Options :

1. % Only 1

2. % Only 2

3.4 Both 1 and 2
4. # Neither 1 nor 2



Question Number : 145 Question Id : 97675519143 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UgfeRul H W & Hid Fafiied # 4 B 82

1.Uc

2. JaT 3y
Options :

1. % Pad |

2. % Had 2

3. ¢ 1 3R 2 &M

4. % Far1 MRATE 2

Question Number : 146 Question Id : 97675519144 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT true about Cadmium toxicity?

Options :

1. # Interacts with iron and decreases the hemoglobin and hematocrit concentration, leads to anemia

2. % Interacts with calcium, leads to osteoporosis, hypercalciuria etc.

3. # Deceases copper concentration in liver and plasma and also reduces the concentration of ceruloplasmin in plasma.
4. ¥ 1t distributes iron metabolism and replaces iron present in metallothionein.

Question Number : 146 Question Id : 97675519144 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiad 7 @ oF O sy Hefioy favaddr & Jeay § 9g! 78} 82

Options :

1. % U e (3IMTIRA) & 1Y U H 3 TR ST Pt Tigdl B HH Sl 5, orad Taaredar (i) gl 8

2. % HieREH & Y YUPh T 31 W AHRUGRRAT (ATReAIRIRA), i [eRramie (FRURGRITINAT) 31fE &1 BRI ST &
3. % fR 3R woHT & did &1 THTIAT 1 HH BT § 3R WIHT H TSGR P THRIdT &l Wt o7 HRar 5 |

4.+ I8 g & IATUY & [adRd o1 § SR ATy # Hivlg dle &1 SWIg ol &




Question Number : 147 Question Id : 97675519145 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

are chemical compounds that enter the body of organisms such as pests through inhalation and affect their bloodstream, enzymes and
nervous systems.

Options :

1. ¥ Fumigants
2. ® Herbicides
3. % Fungicides

4. % Insecticides

Question Number : 147 Question Id : 97675519145 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IS AT § O Sitdl & YRR H YA Hd § ol b dic T & A1H A 3R Id I9q9dTg, TSgH 3R Sfidl & dfFeT dF
&I g R & |
Options :
1. ¥ YHD
2. % QDRI
3. % HaD-IRN
4. % HlcAn

Question Number : 148 Question Id : 97675519146 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Chitin synthesis inhibitors fall under which group of insecticides?
Options :

1. # Nerve targets

2. % Growth and development targets

3. % Energy production targets

4. ¥ Muscle targets



Question Number : 148 Question Id : 97675519146 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HTIIC AT HGHD DHICARID] & [hd TG & Sid 3T 52
Options :

1. ® df¥er ded

2. ¢ gfe 3R fawrg @isa

3. % Soll SAIG 1ed

4. % FY &>

Question Number : 149 Question Id : 97675519147 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Herbicides can be classified as:

a. Photosynthesis Inhibitors
b. Growth Regulators
¢. Carbamic and thiocarbamide derivatives

Options :

1. * Bothaandc
2. % Bothbandc
3.¥ Bothaandb
4. % Alla,bandc

Question Number : 149 Question Id : 97675519147 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BTN 1 3T 0t & Tffopa fopam S Wbl 22

a. JHIR YRAYUT IGHD
b. 3fa Fame

c. HIEHG 3R YRHEAES




Options :

1. % 23R c gl
2. % b 3R c Al
3. ¢ 2 3R b gl
4. #® a,bGﬁTcﬂlﬁ

Question Number : 150 Question Id : 97675519148 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& THT HIR S g & e IR = I Y & w0 ¥ YHias fear mar |

Options :

1. % fohid A
2. ¢ TN (Te)
3. % IRIfA®H
4. % ORI (HH)

Question Number : 150 Question Id : 97675519148 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is listed as 'reasonably anticipated to be a human carcinogen'.
Options :
1. % Bisphenol A
2. % Lead
3. ¥ Arsenic

4. ¥ Mercury

Question Number : 151 Question Id : 97675519149 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Phthalates are commonly used in:

1. cosmetics



2. water supply pipes
3. soap and shampoo
4. shower curtains

Options :

1. % 1,2,3and 4
2. % 1,2and 3
3. % 2 3and 4
4. 1,3, and 4

Question Number : 151 Question Id : 97675519149 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT (Phthalates) BT ST JrATIC: fraw forar Srar 82

l'ﬁwﬁwmﬁémﬁm
2.

3. 9T 3R g

4. IIYFY (AMAR) b Y|
Options :

1. % 1,2,331R4

2. % 1,233

3. % 2, 334

4.¥ 1,3, 3R 4

Question Number : 152 Question Id : 97675519150 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The characteristics of Prokaryotes is/are:

1. presence of DNA as a single circular molecule
2. divide by binary fission
3. membrane enclosed subcellular organelles

Options :



1. # Both 1 and 3
2. % Both 1 and 2
3. % Both 2 and 3
4. % All1,2,and 3

Question Number : 152 Question Id : 97675519150 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

m (Prokaryotes) P ﬁ?ﬁ'ﬁfﬂﬁ il %‘?
1. T Jdd 3] & U H SILTAT. (DNA) BT SufRufa

2. 913} faged gri fa

3. f3reelt Sy Su-B IR 3
Options :

1. % 1 3R 3 Ml

2. ¢ 1 3R 23

3. % 2 3R 3aMN

4. % 1,2, 3R 37

Question Number : 153 Question Id : 97675519151 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is a step of solid phase Extraction?

1. Retention
2. Elution
3. Conditioning

Options :

1. % Only 1

2. % Only 2

3. % Both 1 and 2
4.9 All 1,2 and 3



Question Number : 153 Question Id : 97675519151 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ffIfad & ¥ ®F 319 TR Ah YT 67 T TRT 82

1. gfayrRor
2. FerreH

3. 3G

Options :

1. % &Had 1

2. % Had 2

3. % 1 3R 2aMN
4.9 1,2 3R 3 g+

Question Number : 154 Question Id : 97675519152 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a similarity between P and E cells?
Options :

1. ¥ Both have mucilaginous capsule

2. # Both have ribosomes

3. % Both have a cell membrane

4. #¥ Both have a cytosol

Question Number : 154 Question Id : 97675519152 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafaRad fdwedl & ¥ & P 3R E HIRABIST & s Bt JAFT 18] 62
Options :

1. ¢ Gl # T9eR e (FRd) BT §

2. % GHI HIZENH B §

3. % g H U PIIHT fIeel gl @




4. % Tl A U ECHHIT BT 8

Question Number : 155 Question Id : 97675519153 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Features of Glycogen are:

a. Mainly found in muscle and liver cells in animals and humans.
b. It is a large, branched polysaccharide that is main storage of glucose.
c. It is not present in red blood cells, white blood or kidney cells.

Options :

1. * Bothaandc

2. % Bothbandc

3. % Alla,bandc
4. ¥ Bothaandb

Question Number : 155 Question Id : 97675519153 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TR DI B! ARV &:

2. TOT ©0 Y THRT 3R A7 § U=f SR g5 d HiiRre1sil & U S g |
b. I8 U 98], AMAT TIPS g Sl T Iol BT I HSRUI B |

c. I8 ATE Y& DIRTD1SH, Hhg Xad AT T, Bt HITRIDb131 H Hivlg el g
Options :

1. # aGﬁTCEﬁT‘ﬁ

2. % b 3R c qHl

3. % a,bGﬁTcﬂlﬂ

4. V’ax’tﬁ?ba:ﬁ

Question Number : 156 Question Id : 97675519154 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The amino acid-Glycine belongs to which amino acid class?
Options :

1. % Uncharged polar

2. % Acidic

3. ¥ Non-polar

4. ¥ Basic

Question Number : 156 Question Id : 97675519154 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST S-SR ford i vt ot & Haiferd g2
Options :

1. % SHIEIRIT Ydig

2. % 3

3. ¢ TR-gdrg

4. % RSB

Question Number : 157 Question Id : 97675519155 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Functions of membrane proteins:

1. Cell recognition
2. Transport
3. Receptor sites

Options :

1.¥ All 1,2 and 3
2. % Only 1

3. % Only 3

4. % Both 1 and 3

Question Number : 157 Question Id : 97675519155 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

el (HEH) UIeH & 31 6:

1. HIRIBT g™
2. GREERTT

3. T8l R
Options :

1. 1,2 3R 3 gt
2. % PHad |

3. % $dd 3

4. % 1 3R 3 Al

Question Number : 158 Question Id : 97675519156 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Skin, hair, nails, sweat glands and sebaceous glands are a part of which biological system?
Options :

1. % Endocrine system

2. ¥ Integumentary system

3. % Circulatory system

4. ¥ Musculoskeletal system

Question Number : 158 Question Id : 97675519156 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&, 919, ARG, T &1 Ut $ik g HiET forg Sifde o &1 fiewn 82
Options :

1. % 3fd.9rdl dd

2. JETdd

3. % UREROI A

4. % URfl-bopTd o




Question Number : 159 Question Id : 97675519157 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Features of lysosomes:

1. membranous sacs contains oxidative enzymes
2. digest cellular debris and substances like old organelles, bacteria etc.

Options :

1. % Only 1

2. % Both 1 and 2
3. % Only 2

4. % Neither 1 nor 2

Question Number : 159 Question Id : 97675519157 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
1. T8 foreefier O & sffeehiefeq tomew gd &1
2. YR A 3R R SHTa, Saciiar 3ife S gerdf & uamy|

Options :

4: % 9ar1 RN 2

Question Number : 160 Question Id : 97675519158 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Characteristics of inhibitory synapse are:

a. opens channels for K+ or Cl-



b. results in small depolarization called EPSP
c. movement of K+ (out), or Cl- (in).

Options :

1. #* Bothaandb

2. % Bothaandc

3. % Bothbandc

4. % Alla,bandc

Question Number : 160 Question Id : 97675519158 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FARIUTHS ST & &I B

a. K+ T1 C1- & forQ aifgett (@+en) Wiedi 8
b. BI fagaur & ufkomy 8T 8 SRy EPSP &gl 9ITdT §
c. K+ (3113<), T Cl- () I TIfd

Options :
1. ® 3 3R baHl
2. ¢ a 3R c Al
3. % b 3R ¢ GHI
4. % a b 3R c g
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Question Number : 161 Question Id : 97675519159 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the given combinations of types of receptors and the things to which they respond is/are correctly paired?

1. Nociceptors - Tissue damage or distortion
2. Osmoreceptors - Mechanical stimuli
3. Chemoreceptors - Chemicals

Options :

1. ¥ Both I and 3
2. % Both 1 and 2
3. % Only 3

4. % Only 1

Question Number : 161 Question Id : 97675519159 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

U0 yHR & RATH & ¥ 19 91 Giod iR oM el R 3 URfhar #a &, 3 98l ST A oie T e/e?

1. TR - SHa &ffd a1 fagpfd
2. IR - Fitdd FEuDh
3. DIAIRIPR — A
Options :

1. ¢ 1 3R 3 aHl

2. % 1 3R 2 gHl

3. % $dd 3

4. % $Had |

Question Number : 162 Question Id : 97675519160 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following organic solvents is NOT recognized as a reproductive hazard?

Options :

1. ¥ 2-methoxyethanol
2. % Methyl chloride
3. ¥ n-hexane

4. ® 2-ethoxyethanol

Question Number : 162 Question Id : 97675519160 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafiaad O feg s faares o o Wk & =0 & A=dT U T8l 82
Options :

1. % 2 AYiRIeLTd

2. % HUEd wIRISS




3.9 n-%a@:[
4. % 2 QYUY

Question Number : 163 Question Id : 97675519161 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Features included in the MSDS sheet for organic solvents is/are:

1. first-aid measures
i. chemical stability and reactivity data
1ii. regulatory information i.e., federal and state regulation

Options :

1. # Only i

2. % Only iii

3. % Both i and iii
4. % 1, ii, and iii

Question Number : 163 Question Id : 97675519161 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FIee [T & o TH.Tg 3L ug. (MSDS) U5 (=fte) H# e faRivdid o It g2

i. TTYf® ITIR & U™

ii. TS FRURCT 3R gifohadt Sei

iii. e SMeRY srufa, Tty 3R Iy A=
Options :

1. % $Hadi

2. ® &Had iii

3. % PHad i 3R iii

4. ¢ i, ii, 3R iii

Question Number : 164 Question Id : 97675519162 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT true for Toluene toxicity?

Options :

1. # Liver damage has been reported in solvent abusers.

2. ¥ Chronic toluene exposures at less than 100 ppm are associated with fatigue, nausea and headache.
3. # Long term exposure causes nausea, drowsiness and cardiac arrhythmia.

4. ® Can cause elevated anion gap metabolic toxicity.

Question Number : 164 Question Id : 97675519162 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad @ 9 & 91 clegg f[auTadd & T&y H 98! Tl 82

Options :

1. % Ylede Usgord § PR o eifd o) e fireft 81

2. ¢ 100 YTHITH ¥ HH W HIfF® Slegf- TRIUOR Y&hH, Aaet 3R RRed 4 JSTgsen gl
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Question Number : 165 Question Id : 97675519163 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is/are TRUE about Threshold Limit Values?

1. TLV-STEL- defined as a 15-minute time-weighted average exposure
2. TLV-TWA - defined as time-weighted concentration for a normal 6-hour workday and a 40-hour workweek

Options :

1. ¥ Only 1

2. % Only 2

3. % Both 1 and 2
4. ® Neither 1 nor 2

Question Number : 165 Question Id : 97675519163 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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2. TLV-TWA - B JMH 6-8¢ & HRIfGad 3R 40-8¢ & HH-Te & o THg-HIRkd Ydbgul & &0 H gRuifd far mn g

Options :

1. ¥ $ad |

2. % Had 2

3. % 1 3R 2aM

4. % A1 RGN 2

Question Number : 166 Question Id : 97675519164 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT related to chronic exposure?
Options :

1. # Exposure to lead compounds

2. # Exposure to paint sprays

3. ¥ Gassing accidents, e.g., chlorine, nitric oxide etc.

4. # Fume from welding operations

Question Number : 166 Question Id : 97675519164 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FrafaRad o 9 o Sefas wav 9 Jefid 981 87
Options :
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o Y
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Question Number : 167 Question Id : 97675519165 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The stiffening of the joints within hours after death is referred to as
Options :

1. # Algor mortis

2. % Livor mortis

3. % Rigor mortis

4. # Pallor Mortis

Question Number : 167 Question Id : 97675519165 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I & $S el & HiaR SISt & Td g Bl HEI Il g
Options :

1. # gl Yiaad (TR Jiféw)

2. % YRR P71 Aamgq (forar M)

3. ¢ R@ BIfe= (IR Aiféw)

4. % IR HT U (TR Hife )

Question Number : 168 Question Id : 97675519166 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If someone dies and the body is left outside in cold weather, the rate of body cooling
Options :

1. #* increases slightly

2. % slows down

3. ® remains same

4. # increases significantly

Question Number : 168 Question Id : 97675519166 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

afe 5 & TraH # fodf Bt g 8) 9Tl & 3R TRR 918 @ ST 8, Al IR & S818H Bl &)
Options :

1. % fReRFedt g

2.« it g S 3
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Question Number : 169 Question Id : 97675519167 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is cooling of the body after death.
Options :
1. ¥ Algor mortis
2. # Livor mortis
3. ¥ Rigor mortis
4. % Pallor Mortis

Question Number : 169 Question Id : 97675519167 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T & 918 IRR &1 fida (@feim) g
Options :
1. ¢ I Laad (TR Hifew)
2. % YRR BT g (faeR A@iféw)
3. % 39 B¢ (RIR Afc)
4. % IR HT UIAY (TR HIfew)

Question Number : 170 Question Id : 97675519168 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following would help in the estimation of PMI if a body were discovered several days after death?
Options :

1. % Skin color

2. % Rigor Mortis

3. % Insect activity

4. % Color of eyes

Question Number : 170 Question Id : 97675519168 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e TG & B o1 a1G byl Ud BT WieT 11 § ot Fgfeiad & & o1 §.uH. 8112, (PMI) & 3IIHM H Heg B2
Options :

1. % G BT AT

2. % YA BISY

3. ¢ BIc foba

4. % 3Gl BT

Question Number : 171 Question Id : 97675519169 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Heroin has a half-life of minutes.
Options :

1. % 15

2. % 20to 30

3.3

4. % 60 to 90

Question Number : 171 Question Id : 97675519169 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
&S &1 3¢ Siia-prel e H1EaT B

Options :



1. % 15
2. % 20930
3.¢3
4. % 60990

Question Number : 172 Question Id : 97675519170 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is the active ingredient of Marijuana.
Options :
1. % LSD
2. % Morphine
3. % GHB
4. % THC

Question Number : 172 Question Id : 97675519170 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HIRS ST BT Afshd Focs &

Options :

1. % TA.TY. 3. (LSD)

2. % ﬂﬁ:ﬁ?_*f(Morphine)

3. % SI.UI§. (GHB)

4. ¢ AT (THC)

Question Number : 173 Question Id : 97675519171 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BAC used to express the level of alcohol in blood is known as
Options :

1. ¥ Blood Alcohol Concentration



2. % Blood Alcohol Composition
3. % Blood Alcoholic Content
4. ®* Blood Alcoholic Component

Question Number : 173 Question Id : 97675519171 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

G T HENR & WR $I oad H- & o Ugad dl. T (BAC) Bl & &Y H ST ST |
Options :

1. ¢ Yo AR AUl (TS 3fehigd DhIc )
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4. % Y HIUR] UCH (7S DIl HIHIH=<)

Question Number : 174 Question Id : 97675519172 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The primary metabolite of heroine is
Options :

1. ¥ Morphine

2. # Cocaine

3. % THC

4. ® Isopropanol

Question Number : 174 Question Id : 97675519172 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BRI HT UUHE IUIIS (HeTddge) gl
Options :

1. « Tifthd
2. % HlDHH




3. % AW (THC)
4. % YA

Question Number : 175 Question Id : 97675519173 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What level of BAC is known as LDs?
Options :

1. % 0.08

2. % 0.12

3. % 0.15

4.+ 0.40

Question Number : 175 Question Id : 97675519173 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
BAC & ol TR @I LDy & 19 ¥ ST 1Tl 87

Options :
1. % 0.08
2. % 0.12
3. % 0.15
4.+ 0.40

Question Number : 176 Question Id : 97675519174 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Identify the region where the rates of absorption and elimination are approximately equal in the following Widmark
curve.

0.l +

BAC

0.02 -+

— Empty stomach &

/ — = Full stomach

T T

1 2 3 4
Time in Hours

Options :

1. % A

2.¥C

3.%D

4. % B

Question Number : 176 Question Id : 97675519174 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



A 29T a1T =T 3% # 39 &9 fT 999 F{ Fgr FHTA6T 3T FHaEa #:7 g1 T a6 2

/ —— Empty stomach ~

— = Full stomach

T T 1 1
1 2 3 3
Time in Hours
Options :
1. % A
2.¥C
3.%D
4. % E

Question Number : 177 Question Id : 97675519175 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Aliphatic polyisocyanate is a component of which of the following?
Options :

1. ¥ Activator

2. % Clearcoats

3. # Thinners

4. % Basecoats

Question Number : 177 Question Id : 97675519175 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 178 Question Id : 97675519176 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is/are used for coating woods to protect them?

I) Stain
IT) Varnish
IT) Shellac

Options :

1. * T and II Only
2. ® T and III Only
3. % Il and III Only
4. % [ Iland III

Question Number : 178 Question Id : 97675519176 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % $pad 3R 10
2. % PHad [ 3R III
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4. % 111 3R 101

Question Number : 179 Question Id : 97675519177 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The phenomenon, whereby someone exhibits magnified effects from a combination of drugs, is called
Options :

1. * Synchronism

2. ¥ Synergism

3. # drug coupling

4. % drug correlation

Question Number : 179 Question Id : 97675519177 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

a8 UR"eT, aH B1g cafd garsl & TuH Y 9¢ gUUHa USRId #RaTg,  Hgam gl
Options :

1. % gHhHDdr (RiwIfAw)

2. « gefohar (RAfTa)

3. % a1 g (ST hUleT)

4. % 1 IgIEY (ST HRRAL)

Question Number : 180 Question Id : 97675519178 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following drugs is/are known to exhibit reverse tolerance?

I) Methamphetamine
II) Marijuana
III) LSD

Options :
1. % Tand II



2. % JTand I
3.4 [l and III
4. % [ 11 & III

Question Number : 180 Question Id : 97675519178 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frafeiad & @ o1 @t gan gan faudta we-siierar yefid 6 & fore st s &/

1) Adtherf=
1) HIRS3HT
111) T&1.TH. 31, (LSD)
Options :
1. % 13RI
2. % [ 3R
3. ¥ 11 3R 111
4. % 1 11 3R I
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Question Number : 181 Question Id : 97675519179 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A 100-proof whisky contains percent alcohol by volume.
Options :

1. %10

2. %25

3. % 40

4.9 50

Question Number : 181 Question Id : 97675519179 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP 100-J% [ d a1 & fgaa 9 TfI=Td TENR (3ehigd) BT g |
Options :

1. * 10

2. % 25

3. % 40

4.9 50




Question Number : 182 Question Id : 97675519180 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following are recommended as surrogates for measuring alcohol levels in the brain?

I) Breath
I1) Blood
IIT) Urine

Options :

1. ¥ T and II Only
2. % [ Only

3. % II and III Only
4. % I, Il and III

Question Number : 182 Question Id : 97675519180 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT H TENR (3HehIgd) & Wi I A0 & e Fofafed 3 9 f68 R & w0 & srRifid fasar S g2

1) I
INEES

1n §A
Options :

1. ¢ Pad 1 3R 11
2. % Had |
3. % Had 11 3R 111

4, % [ 11 3R 111

Question Number : 183 Question Id : 97675519181 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is NOT included in field sobriety testing program?
Options :



1. % Walk and turn
2. % Stand on one foot
3. ¢ Raise hands parallel to ground

4. # Horizontal gaze nystagmus

Question Number : 183 Question Id : 97675519181 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofoRad o 9 R &5 ST U1 HRihH H JMH 78T o7
Options :

1. % T 3R &

2. % TH R WIS BT

3. ¢ BTl DI S & GHMIIR SSHT

4. % &fqS ched! Sffé@iam

Question Number : 184 Question Id : 97675519182 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is/are major duties of a forensic pathologist?

I) To determine the apparent cause of death
I1) To ascertain the manner of death
IIT) To determine the identity of the deceased

Options :

1. % Tand II Only
2. % Tand III Only
3. % II and III Only
4. % 1,1 and IIT

Question Number : 184 Question Id : 97675519182 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



frofefad o ¥ o1 1 U =i ATt &1 T Baod 82

1) §g BT WY BRI Fuid B
1) 9 & TRIdh BT Ul
I1T) d® B! Uga FuUiRd BT

Options :

1. % $Had MR 1I
2. % Had 1 AR I
3. % Had 11 3R 111

4. ¢ 1,11 3R 11

Question Number : 185 Question Id : 97675519183 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a component of float glass?
Options :

1. # Na,CO3

2. % CaO

3. % Boron

4. % SiO,

Question Number : 185 Question Id : 97675519183 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiRad # © w1 IHdad &g o1 Ucd g1 82

Options :

1. % Na,COj3
2. % CaO

3. ¥ ARM

4. % Si0,




Question Number : 186 Question Id : 97675519184 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

is a method of recovery of accelerant vapors from fire debris that employs a material that adsorbs the vapors, which are then removed
and concentrated for analysis.

Options :

1. ¥ Adsorption—elution
2. % Greiss test

3. % Spalling

4. % Spluttering

Question Number : 186 Question Id : 97675519184 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

31T & FeS A @R T 1 TIUTIG B Tep fafdy @ S arey bl g arelt el o1 PR et B, o are & ger fean s @
3R fazaiwor 3 for wifed fopar ST B

Options :

1. ¢ STV TgTa
2. % UG a0

3. % gdSH

4. % dgdglec

Question Number : 187 Question Id : 97675519185 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

From the standpoint of the fire scene investigator, which of the following is NOT a cause of fire?
Options :

1. * Natural

2. ¥ Incidental

3. % Accidental

4. % Deliberate



Question Number : 187 Question Id : 97675519185 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 I 3ave & =RHI0N A, Fufeiad o & FT 31T 1 BRI G 67
Options :

1. % UTpidd

2. ¢ Uit

3. % JTHIRD

4. % Febfcud

Question Number : 188 Question Id : 97675519186 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a component of black powder?
Options :

1. ¥ KNO;

2. # Charcoal

3. ¥ H,S

4. % Sulfur

Question Number : 188 Question Id : 97675519186 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FfIfEd & ¥ 7 HTaT IReG BT Ueh A8l 82

Options :
1. ¥ KNO;

2. % W(Charcoal)
3. ¢ H,S
4. % TYH

Question Number : 189 Question Id : 97675519187 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
is a type of electron microscopy that uses thin sections of specimens that the electron beam can penetrate.
Options :
1. ¥ Transmission electron microscopy
2. # Scanning electron microscopy
3. % Transmission light microscopy

4. ® Microspectrophotometry

Question Number : 189 Question Id : 97675519187 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T UbR BT SoideT Yerarfo! & o FH1 & 3 Udel Tal &1 IUANT Bl § R gaiee’d a9 a4 o3 gavd 2|
Options :
1. ¢ HORUT SAaC I YEHERID! (SRR S+ HISh Db IU)
2. % PHHANEU AT JeHG RIS (IB T SadeH HISH R TY)
3. % HoRUI GHTRT YEAGRIB! (CIATERM AISe AR DU
4. % JEAWGCHIYDTRIATT (FghIdeIhIcIHe)

Question Number : 190 Question Id : 97675519188 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Scanning electron microscopy is used in the analysis of which of the following types of evidence?
Options :

1. ® Dust

2. ¥ Gunshot residue

3. ® Glass

4. ® Bullets and cartridges

Question Number : 190 Question Id : 97675519188 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



AU Sode T eI (TbIT Seidel- HISH DI B ST Fafiad & § fbd UbR & 91eg & oo & fovar s 22
Options :

1. % 4d

2. ¢ MR & ARy

3. % Big

4. % Tl 3R BRI

Question Number : 191 Question Id : 97675519189 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is/are modification of the basic compound microscope?

I) Comparison microscope
I1) Polarized light microscope
IIT) Microspectrophotometer

Options :

1. % 1Only

2. % III Only

3. % Tand I Only
4. ¥ 111 & 11

Question Number : 191 Question Id : 97675519189 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefad o & oo ga aifiie geresif &1 smafkad 82

1) T AR (RS AIghRG)

1) $digpd ThTRT YETGR (UIeRISS drse ATSHh DY)
111) GERUTCHIOUGIRIAT (HSh RUGS hIcHIeR)
Options :

1. 8 Had 1
2. % Had Il
3. % Had 1 3R




4.4 1,11 3R 111

Question Number : 192 Question Id : 97675519190 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Three-dimensional footwear impressions can be preserved by
Options :

1. # Tracing

2. % Forging

3. ¥ Casting

4. % Modeling

Question Number : 192 Question Id : 97675519190 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

- S & Bt @l SR IR fopar S w31
Options :

1. % 3yl (i)

2. % TIGTS (WIS

3. ¥/ GaT8 (PIRET)

4. % gfo=yqur (Hisferm)

Question Number : 193 Question Id : 97675519191 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Safety precautions are NOT needed in which of the following fingerprint visualization methods?
Options :

1. # Ninhydrin

2. % DFO

3. ® Super Glue fuming

4. ® Physical Developer



Question Number : 193 Question Id : 97675519191 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Praffed 8§ A i shreh-fRig yan fafty & qRam Qraual &) sragged T8t el 82
Options :

1. % AgRfe

2. ¢ S1.UB.31. (DFO)

3. % fafRy WY yuH

4. % it fdwras

Question Number : 194 Question Id : 97675519192 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

To get the primary classification in Henry classification, the values of all of the even numbered boxes containing whorls are
Options :

1. ¥ added together and then 1 is added to the total.

2. ® multiplied together and then 1 is added to the total.

3. % added together and then 1 is subtracted from the total.

4. % multiplied together and then 1 is subtracted from the total.

Question Number : 194 Question Id : 97675519192 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I iR ur H Urfies affensor U - & foig, Tshgad ot 9H et aTd g & 3
Options :

1. ¢ U 1Y SIS O1d § 3R f A & 1 ST Srar g

2. % e QY 0N fhTU o1 § SR R A & 1 ST o g

3. % Up I OIg Sd @ 3R TR AT A Y | Uear S g

4. % TH Y 0N fHU O € SR TR AT H Y | geT o1 g



Question Number : 195 Question Id : 97675519193 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is/are the major fingerprint pattern types?

I) Whorl
1) Arch
IIT) Loop

Options :

1. # Tand II Only
2. % Tand Il Only
3. % [ Only

4.9 1 Il and III

Question Number : 195 Question Id : 97675519193 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoied & § &9 91/ Uga Sieh-fug ufaey UaR 8/8?
1) 9% (FIc)

1) BTY (31T)

I1I) YIRT (<U)
Options :

1. % a1 3R 11
2. % Hgd [ MR 111
3. % $Had |

4.9 1,11 3R 01

Question Number : 196 Question Id : 97675519194 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is NOT a whorl pattern?
Options :



1. # Central pocket loop
2. ¥ Tented

3. % Double loop

4. % Accidental

Question Number : 196 Question Id : 97675519194 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Profifed § 3 $H 91 16 9% Uy (@ Ued) T8 2
Options :

1. % Dol DIRD U

2. ¥ FAIER

3. % QIR U

4. % 3B

Question Number : 197 Question Id : 97675519195 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Whorl patterns make up around percent of fingerprints.
Options :

1. ¥ 30

2. %70

3.%5

4. % 20

Question Number : 197 Question Id : 97675519195 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ioh Ufaed (@Idt UcH), SAIE-Tagl BT TTHaT =T s €
Options :

1. ¥ 30




2. %70
3.%5
4. % 20

Question Number : 198 Question Id : 97675519196 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Magistrate Inquest is NOT conducted in which of the following circumstance?
Options :

1. ¥ Death due to a disease

2. # Death in police custody

3. # Death in a psychiatric hospital

4. ¥ Dowry deaths

Question Number : 198 Question Id : 97675519196 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFoffed # § fog aRfRufa & aforge sraiten =81 1 el &2
Options :

1. ¥ SR S A

2. % gfery fiemaa § Hig

3. % TS sryare § Hid

4. % g gl

Question Number : 199 Question Id : 97675519197 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The phenomenon of Suspended Animation is seen in:

a. Hypothermia
b. Newborn

Options :



1. # Onlya

2. % Only b

3. % Neither anor b
4. ¥ Bothaandb

Question Number : 199 Question Id : 97675519197 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAcifard wmorasn (Suspended Animation) P gigedr L T T STt % |
a. 3TdIY (GrTTYTHa)

b. Adulld

Options :

1. % Hdda

2. % Bhad b

3. % I adRAEDb
4. ¥ a2 3R b Al

Question Number : 200 Question Id : 97675519198 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The modes of death is/are:

1. Syncope
2. Anoxia
3. Auscultation

Options :

1. ¥ Both 1 and 2
2. % Both 2 and 3
3. % Both 1 and 3
4. # Either 1 or 2



Question Number : 200 Question Id : 97675519198 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T H1/h UHR 878

Options :

1. 1 3R 2 gl
2. % 2 3R 3EH
3. % 1 3R 3 QM

4. %A1 1412



